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Question Number : 1 Question Id : 54062618626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is located in Gujarat.

Options :

1. #* Sultan Ghari’s Tomb

2. * Warangal Fort

3. % Lakhota Fort

4. % Jaigarh Fort

Question Number : 1 Question Id : 54062618626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



 ToRAA @Rl
Options :

1. % A TR} BT HbaRI
2. % GRS fbel

3. ¢ q@iel fdbar

4. % Sig foean

Question Number : 2 Question Id : 54062618627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of instrument — type is correct?

I. Veena — Avanaddha
II. Sarangi — Sushir

Options :

l. % Only I

2. % Only II

3. # BothIand II
4. ¢ Neither I nor II

Question Number : 2 Question Id : 54062618627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qTE, - YR & gfeiad § I & a1 g 981 82

1. 9IOT — 3faTg
1. IR — gitR
Options :

1. % FHadl

2. % had Il

3. % [ UGl
4. I



Question Number : 3 Question Id : 54062618628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the policy instrument of Reserve Bank of India?

I. Repo Rate
II. Reverse Repo Rate
III. Exchange Rate

Options :

1.¥ Tand I

2. % Il and III
3. % Only I
4. % [, 1l and III

Question Number : 3 Question Id : 54062618628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefad & &9 98 YR Reid o @1 ifaa Iusu 8/g8?

LA &R

1. Rad I ¥e
1. fafma R
Options :

1. 1dYT 11
2. % [1dYT I

3. % Had Il

4. % [ 11 dYT I

Question Number : 4 Question Id : 54062618629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is NOT true about Reserve Bank of India?



Options :

1. ¥ RBI can affect the reserve deposit ratio of commercial banks by adjusting the value of the reverse repo rate.
2. # It acts as the monetary authority of the country

3. # RBI is the independent authority for conducting monetary policy in the best interests of the economy.

4. ® Tt sterilises the money supply in the economy against external shocks.

Question Number : 4 Question Id : 54062618629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafea #  oF 91wy YRd Rod 6 & e & gt a8t 32

Options :

1. ¢ SRS 3MTS. Rad XY &R & Yo &1 FHIII HRab dluIod Sl &b SR STHT SUTd &I YHTId B JhdT |
2. % g <R & Wi UYHRUI & U H &1 Il g

3. % SR.E.3MMS. SrfHaRT & qarad fgd § Mg =ifd & Tarer & & o Was WIS g |

4. % g 8 SHTUTd & RIars srfaraei o ga1 &1 fd & serai o |

Question Number : 5 Question Id : 54062618630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a convex lens, when object is at infinity then where is the position of image?
Options :

1. ¥ AtF,

2. % At2F,

3. # At infinity
4. ® AtF,

Question Number : 5 Question Id : 54062618630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T I0d i H, 9fd T 3d TR 3@ 91l & ot ufifed ford R WR a1t 82
Options :



1.¥ F, R
2. % 2F, |
3. % I W
4. % F| IR

Question Number : 6 Question Id : 54062618631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Property of metal by which it can be drawn into wires is called
Options :

1. % malleability

2. ¥ ductility

3. % sonority

4. # lustrity

Question Number : 6 Question Id : 54062618631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T3 1 98 707 o) 3¢ WiaaR Rl A uRkafdd fbar s asdig @& Feadi gl
Options :

1. % Sraraqd=gd

2.« dIdl

3. % @D

4. % JHGBIA

Question Number : 7 Question Id : 54062618632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct about sound?



I. Large amplitude — Loud sound
II. High frequency — Low pitch

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 7 Question Id : 54062618632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@ & doo # Fafafed # 4 o 91 98t 82

1. 3 M - Uad i
1. 3P 31gfd — HH TR

Options :

1.¥ Hadl

2. % HAd Il

3. % [ UGl
4. % qEIIATE I

Question Number : 8 Question Id : 54062618633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following tree is found in coniferous forests?

I. Chir
II. Pine
III. Ash

Options :
1.9 Tand II
2. % Il and III
3. % TandIII



4. % 111 and IIT

Question Number : 8 Question Id : 54062618633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR ot § Fafefad & | 1 a1 gar o ST 2

L.ds

IL. TdGR

1L U
Options :

1. ¢ 1dUT I

2. % [ AU
3. % 1Y
4. % 1 11 AYTIII

Question Number : 9 Question Id : 54062618634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the time lag from Gujarat to Arunachal Pradesh?
Options :

1. ® 15 minutes

2. % 30 minutes

3. % 1 hour

4. % 2 hours

Question Number : 9 Question Id : 54062618634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ToRTd ¥ SRV Yo & RITHG HT § foaT 3R g2

Options :
1. % 15 e




2. % 30 fie
3. % 14cl
4. 2Hc

Question Number : 10 Question Id : 54062618635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is mica producing area in India?

I. Gaya
II. Hazaribagh
1. Ajmer

Options :

1. % Iand II

2. % Il and III
3. % Tand III

4. 1,1l and 11I

Question Number : 10 Question Id : 54062618635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafed §  BI9 91 HRd &1 T 314D IS &7 89

L3711

1. STRIERT
1L 3SR

Options :

1. % 1dYT 11

2. % I dUTIII
3. % 1dYTIII
4. 1 11 dYT 1T



Question Number : 11 Question Id : 54062618636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was the first Mughal Emperor in India.
Options :
1. ¥ Babur
2. % Akbar
3. ¥ Humayun
4. % Shahjahan

Question Number : 11 Question Id : 54062618636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR H UYH IITe ISP Y|

Options :

1. ¢ §la}

2. % 3PN

3. % gAY

4. % SMESIRI

Question Number : 12 Question Id : 54062618637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of place — year of formation is correct regarding Singh Sabha?

I. Amritsar — 1873
II. Lahore — 1879

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II



Question Number : 12 Question Id : 54062618637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rig v & WTed & Teu # = - av &1 Fgfeiad § § &F 91 3 9al |2

. 3HAR — 1873
IL. AIER - 1879

Options :

1. % Had 1

2. % Had Il

3. ¢ 1 UGl
4. % GBI

Question Number : 13 Question Id : 54062618638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of Battle and their year is/are correct?

I. Battle of Buxar — 1764
I1. Battle of Plassey — 1757

Options :

1. ® Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 13 Question Id : 54062618638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaied o @ &1 T8 T TeT8 3R 376 a8 & Yo 7 gl /82




1. SRR I ASTS — 1764
1. W &1 qSTS — 1757

Options :

1. % Had I

2. % Had I

3. ¢ 1 qUTIL A
4. % qEIIATR I

Question Number : 14 Question Id : 54062618639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has written the book “Moving On Moving Forward : A Year in Office”?
Options :

1. % Manmohan Singh

2. # Arun Jaitley

3. ¥ Venkaiah Naidu

4. % Manohar Parrikar

Question Number : 14 Question Id : 54062618639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 31T, AT BRAS : TR 3 31t fhdre fpam foret g2
Options :

1. % #AHIE Rig

2. % 3fBUI Sl

3. ¢ AT AAg

4. % TARR TR

Question Number : 15 Question Id : 54062618640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who won the Nobel Peace Prize 20207
Options :

1. # Peter Handke

2. % World Food Programme

3. ¥ ICAN

4. % Abiy Ahmed Ali

Question Number : 15 Question Id : 54062618640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2020 g ifd QRIBR fba= Siidr?
Options :

1. ® icx 88

2. ¢ 13% g, HRIHH (T s UMW)
3. % AT

4. % 3fdl 3{gHg 3t

Question Number : 16 Question Id : 54062618641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the rank of India in global energy transition index released in April 20217
Options :

1. ¥ 87

2. % 96

3. % 67

4. % 110

Question Number : 16 Question Id : 54062618641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
30 2021 T IIRT G TGS Tl NI Soad H YR T R FT 412

Options :



1. ¥ 87
2. % 96
3. % 67
4. % 110

Question Number : 17 Question Id : 54062618642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which amendment of Indian constitution provided legislative assembly for Delhi?
Options :

1. # 61

2. ¥ 69

3.% 73

4. % 76

Question Number : 17 Question Id : 54062618642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR FfAYT & S § TR F faed o1 faarge < o
Options :

1. % 61

2. %69

3.% 73

4. % 76

Question Number : 18 Question Id : 54062618643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related to the duration of state legislatures?
Options :

1. % 168



2.¥ 172
3. % 179
4. %= 187

Question Number : 18 Question Id : 54062618643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU BT DI T T3¢ sl & fAYH-Hed Bt 3rafy I Gafdrg g2
Options :

1. % 168

2.9 172

3. % 179

4. % 187

Question Number : 19 Question Id : 54062618644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many gold medals did India won in 2018 Commonwealth games?
Options :

1. * 18

2. % 32

3. 926

4. % 20

Question Number : 19 Question Id : 54062618644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2018 WPTI Hed Well H HRd A b Wl U witd &2
Options :

1. % 18

2. % 32

3.4 26



4. % 20

Question Number : 20 Question Id : 54062618645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country has won the first ever FIFA World Cup?
Options :

1. ®# Mexico

2. % Brazil

3. ¥ Uruguay

4. # France

Question Number : 20 Question Id : 54062618645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl w1 fay &Y food <=7 = SiidT U1
Options :
1. % Hidgep!
PRI
3. ¥ 3¥d
4. % Y

General Ability
Group Number : 2
Group Id : 540626705
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20

Is this Group for Examiner? : No
General Ability

Section Id : 540626887

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261071

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062618646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

APQ, DUX, GZE, JFL, MJS
Options :

1. ¥ JFL

2. % GZE

3. % DUX

4. % MJS

Question Number : 21 Question Id : 54062618646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3gepd fear mar ], o d § v e 7Tad g | iU e faswedt §f 9 39 Ted ug & giHu|



APQ, DUX, GZE, JFL, MJS
Options :

1. ¥ JFL

2. % GZE

3. ®# DUX

4. = MIJS

Question Number : 22 Question Id : 54062618647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

TONU, NOVW, HODY, BOLA, ?
Options :

1. * VOTB

2. % UOTC

3. ¥ VOTC

4. % UOTB

Question Number : 22 Question Id : 54062618647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 fera T B, R A U Ue g ©| Fu T et A & o8 U8 Rehed 9, S g B AR

TONU, NOVW, HODY, BOLA, ?
Options :

1. * VOTB

2. % UOTC

3. ¥ VOTC

4. % UOTB

Question Number : 23 Question Id : 54062618648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. ¥ Friend

2. * Sister

3. % Brother

4. * Mother

Question Number : 23 Question Id : 54062618648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Praferfed o 3 o o et & @ faw wres &1 9f)
Options :

1. ¥ fie

2. % dg

3. % YIg

4. % HIdI

Question Number : 24 Question Id : 54062618649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

JRK : MUN :: ABC:?
Options :
1. * DFE
2. ¥ DEF
3. * CEF
4. ®= CFE

Question Number : 24 Question Id : 54062618649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafefad us § fau T fawedi & 9 defia siari &1 gfu)

JRK : MUN :: ABC:?
Options :
1. % DFE
2. ¥ DEF
3. % CEF
4. % CFE

Question Number : 25 Question Id : 54062618650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

PONL : PRST :: ?
Options :

1. * GABY : PZJB
2. % MINT : VQGM
3. ¥ TONG : KRSX
4. % ROMB : AWUY

Question Number : 25 Question Id : 54062618650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad uy # fu 7Tu fowedl B 9 Hafdd sfeR g &l gHu|

PONL : PRST :: ?
Options :

1. # GABY : PZJB
2. % MINT : VQGM
3. ¥ TONG : KRSX



4. * ROMB : AWUY

Question Number : 26 Question Id : 54062618651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘I want it all’ is written as ‘lo pq rf {j’, ‘It all depends’ is written as ‘rf fj wy’. What is the code for ‘it, all’ in that code
language?

Options :

1. ¥ rf fj

2. % lowy

3.% pqf]

4. * rfwy

Question Number : 26 Question Id : 54062618651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fafRIY B8 UIWT H, I want it all’ BT lo pqrf )’ ﬁ’l’@T\_SIT(_‘lT%, ‘It all depends’ Eal ‘rf fj wy’ forar ST 81 I DIS U H “it, all’ BT HIS
g7

Options :

1. ¥ rf fj

2. % lowy

3. % pqf]

4. % rfwy

Question Number : 27 Question Id : 54062618652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing to a girl, Sameer said, “She is the only daughter of my father”. How is Sameer related to the girl?
Options :

1. ¥ Brother

2. % Uncle

3. % Nephew



4. % Father

Question Number : 27 Question Id : 54062618652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ASH! DI 3R Ybd B §U, HR 3 g, “ag R a1 &1 THaE T 7 | GHR 39 dso! I v TR afdd 82
Options :

1. v TS

2. % T

3. % ST

4. % fuar

Question Number : 28 Question Id : 54062618653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six persons F1, F2, F3, F4, F5 and F6, are sitting in a straight line facing towards north. Among them one is a doctor, engineer, lawyer, manager,
cricketer and boxer (not necessarily in the same order). Only one person sits between F2 and cricketer. F4 sits at the third place to the right of F3.
Only two persons sit between boxer and lawyer. Only one person sits between cricketer and doctor. F4 is a engineer. F6 is a manager. Boxer sits
at right end. F5 is immediate neighbor of F4. Which of the following is correct?

Options :

1. % Lawyer sits at the second place to the right of F4

2. % F3sits at the second place to the right of F5

3. ¥ Only three person sits between manager and cricketer

4. ¥ Doctor sits at the third place to the left of engineer

Question Number : 28 Question Id : 54062618653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F1, F2, F3, F4, F5 94T F6 ©: Afad U Ufdd H SR &1 3R & I 96 ¢ | 370 9 T Fifredss, SolifeR, aotd, Usees, fopdrex au
TahdTol § (SRes! el &1 51 A H 81 | F2 TUT fhdher & o1 H ohad U dHifad 9adT & | F4, F3 & il 3R dRR /M R dad1 7
Hadh TSl aUl ahid & aid H $ad af Aiad 96d & | foharex adT fafrcad & o H had Us dfad 96dT g | F4 T Soll-R 8 | F6 Uk

Teieeh g | JahaTol gl ©R IR dodT g | FS, F4 &1 Rdead geri g | Fufafed & 9 & arugt 82




Options :

1. % GHId, F4 B g 3R IR M R §3d1 §

2. % F3,F5 % ! 3R G R R 93dT &

3. % EY® YT fhdher & o H Hhad diF fad 93d &
4. ¢ RIfPTD, ToifAR & Il 3R TR WA W Iad1 8

Question Number : 29 Question Id : 54062618654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nine boys P, Q, R, S, T, U, V, W and X are sitting around a circular table facing towards the centre (not necessarily in the same order). U is fourth
to the right of P. P is third to the right of Q. X is fourth to the left of Q. S is third to the left of X. R is third to the right of W. T is second to the left
of V.

Which of the following statement(s) is/are not correct?
I. U and V are not the immediate neighbours.

II. V is the immediate neighbour of Q and U.

III. R is second to the right of T.

IV. W is third to the left of U.

Options :

1. % Only II

2. % Il and III

3. % L IL Il and IV
4.+ 1,1l and IV

Question Number : 29 Question Id : 54062618654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ASH P, Q, R, S, T, U, V, W TUT X H% Pt 3R T HRb T JAIHR Hol & 36-116 96 §U G (Ss! gl bl S HAA BN | U, P & ardl
ARV AR P, Qasaréﬂeh??ﬂﬂ%wu?%m QF T M AAWHAWEI S, X P TRl IR AWM VW I R, W & ST 3R
TR WAREI T, v a1 3R TR YF R B

P 3 3 oF 9/ $UT I8 8782
1. U duT v Redq usf 981 B
I1. V, Q 9YT U T Abead us g




IIL R, T & G IR g WM R 5|
IV. W, U & SR 3R R R |R g
Options :

1. % Had 11

2. % [ AUTIII

3. % [ IL I YT IV

4. LTIV

Question Number : 30 Question Id : 54062618655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. No X are Y.
II. Some Z are Y.

Conclusions:
I. All Z are X.
II. No Y is X.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 30 Question Id : 54062618655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H feu T Uy H $B HUT 3R 3P d1e 3T HYAl W 3NURd $2 Fpd 3w mu 7| fou T Sy &) T8t 7, 71 I 9 91d awt
I i 811§ e U SR iR Feifa &% {3 3T e o 3 feepd, 3T T w2 & 3R W gfaaed g




DHY:
L P WX, YR gl
1L.$SZ YR

fsen:

L 94t z, X 1

1. & 4y, x T8I

Options :

1. % Had FHY | SFIER0T el §

2. ¢ I DY 11 SRV BT §

3. % QI S 1 T 11 3FIRRUT B &
4. % Pz W} FIHY SR T8 FRT §

Question Number : 31 Question Id : 54062618656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Al F are C.
II. NoDisF.

Conclusions:

I. Some C are F.
II. All C are D.
III. No F is D.

Options :

1. ¥ Both conclusions I and II follows
2. % Only conclusion III follows

3. % Both conclusions I and III follows

4. % All conclusion follows



Question Number : 31 Question Id : 54062618656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy ¥ 58 U 3R 39D 918 31 Bl R SMUTRT & (b U T | 3T T Hy=1 &I 9! AM, 1e 374 AE= 1 a2t
3 firerar 811 gt e o iR fpR Faffead &% o fau o 19 T fse, T 71T AT & SR R gfeaeia 8|

DHY:
L9 E Cgl
11 15 D, F IS 81

fsep:

LS C,FRI

.9t ¢, DRI

L &% H F, DI R

Options :

1. % Gl 5By 1 a7 1T SRRV HRd &
2. % Had Y [11 SFTERUT Fal &

3. ¢ QI S 1 T 111 SFJER01 HRd §
4. % guft fFreepef SIgERT R ©

Question Number : 32 Question Id : 54062618657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

3 4 | 2 |27
6 5 I |
9 (-

Options :

1. ¥ 36

2. % 48

3.% 24



4. % 30

Question Number : 32 Question Id : 54062618657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad vy @ fau T fowedl O 9 Uy fg (2) & RIM WR 3 aTelt Ie & gl

3
6
9

27
36

l-l'

|

f—
b | =] 2

Options :
1. ¥ 36
2. % 48
3.% 24
4. % 30

Question Number : 33 Question Id : 54062618658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If31L31J5=186and47J2L43=137,then52 L 64J3 =7
Options :

1. * 250

2.9 244

3. % 246

4. = 248

Question Number : 33 Question Id : 54062618658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfE31L3175=186TUT47121L43=1378, AI52L64J3 =2
Options :



1. #® 250
2.9 244
3. % 246
4. % 248

Question Number : 34 Question Id : 54062618659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many mugs are not plate?

Mug —) 2 p—Cup

8 9 4N

[ L6 N

Plate

Options :
1. %3
2. % 15
3.9
4. % 13

Question Number : 34 Question Id : 54062618659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e T, Wie T8l &2




Options :
1. %3
2. % 15
3.9
4. % 13

Question Number : 35 Question Id : 54062618660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement(s) is/are correct?

Car
Red

I. Total number of black are 24.
II. Number 12 represents those cars which are only black.

Options :
1. % Only I
2. % Only II



3.4 BothIand II
4. % Neither [ nor 11

Question Number : 35 Question Id : 54062618660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fET TTT 3 3@ F SMYR R, Fufeied # ¥ o9 91/8 Sy I8 8782

L. BT P Hd AT 24 B

I, =T 12 3 BRI B STl 8, ST Had bIai gl
Options :

1. % $ad 1

2. % Had Il

3. ¢ [ QYT I gl

4. % I I

Question Number : 36 Question Id : 54062618661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If north becomes south-west and south-east becomes north, then what west will become?
Options :

1. ¥ South-east

2. % East



3. # North-east
4. % North-west

Question Number : 36 Question Id : 54062618661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g IR, STE1-ufEd §) SiTaT § quT Sférr-gd SR g1 SIrdl §, of Uidd o g1 Siem?
Options :

1. ¢ Gfaorgd

2. % 4d

3. % IW-Jd

4. % JR-UEH

Question Number : 37 Question Id : 54062618662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Radha walks 14 km towards north. She turns right and walks 22 km. She turns right and walks 24 km. She turns left and walks 26 km. She finally
rotates by an angle of 90 degrees in anti-clockwise direction and walks 24 km. How far and in which direction is her starting point from the
finishing point?

Options :

1. ¥ 50 km, south-west

2. % 76 km, north-west

3. % 76 km, south-east

4. % 50 km, north-west

Question Number : 37 Question Id : 54062618662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

XTHT SR BT 3R 14 {05 A, Feicll 1 98 il 3R Gl & 71 22 b 7t et &1 o @t SR gselt & m 24 fo Al el €11 o o1t o
TSl § a1 26 . 1. Tawcit g1 I8 Sidd: 90 &I & HI0T Y araTad fG=0 & il § au 24 [ 1. Iardt 81 39d! SR fog, sifdr fog &
foraTt gt oR T for femm A /2

Options :




1. ¢ 50 fop 71, ferorafgm
2. % 76 T A, ITR-UFH
3. % 76 fp A, aféorgd

4. % 50 foo o, ITR-Ufgm

Question Number : 38 Question Id : 54062618663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figure on the right of (::) from the given
alternatives based on the same logic/rule/relation.

F L] , IL Al..l= M )
A 9 ° 0 2°°lo A '
Options :
M O
1. ® =B
n o
2. ® L =
M O
38 EX
M O
=

Question Number : 38 Question Id : 54062618663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

() P IR 3R & Tt & 3ot fopdt b/ fam/ddy @ Tefid 31 ol T et H ¥ () & <l 3R JHM deh/Mam/Aey W sneika
q Mpfd Bl g

£ L L ﬂqnz Y|
A O ° 0 2°°l0 a
Options :
M O

= A

M O

M O

Question Number : 39 Question Id : 54062618664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?



Options :

1
L w AL

/&
o AL

Question Number : 39 Question Id : 54062618664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B It IR MBI UY MBI & ey Bl TR B2



Options :

1
L w AL

/&

Question Number : 40 Question Id : 54062618665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?



Question Number : 40 Question Id : 54062618665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife Teb UUI T AB AT TR T 9T, oY Y 718 TR Mpiadl & J B Y 3Mpfa U fpfa o1 Tt ufafes g




Options :

QO

Arithmetic Ability

Group Number : 3

Group Id : 540626706
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



Arithmetic Ability

Section Id : 540626888
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261072
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062618666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1

r

What is the value of [_L] ; ?
512

Options :
1. % 4
2.9 -8
3. % 8
4. % 4

Question Number : 41 Question Id : 54062618666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1

[_L] ‘F AT FT &2
512

Options :



1. % 4

2.¥ -8
3. % 8
4.% 4

Question Number : 42 Question Id : 54062618667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many numbers from 1 to 300 are divisible by 77
Options :

1. % 51

2.% 33

3.¥ 42

4. % 37

Question Number : 42 Question Id : 54062618667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
19 300 TP fova! STl 7 9 faursa 62
Options :

1. # 51

2. % 33

3.9 42

4. %= 37

Question Number : 43 Question Id : 54062618668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If product of two numbers is 578 and their Highest Common Factor is 17, then what is the difference between two numbers?
Options :

1. ¥ 17

2. % 34



3. % 51
4. % 68

Question Number : 43 Question Id : 54062618668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g &1 W31 BT UHTE 578 § qUT 1 HETH THUGAD 17 §, A1 G| ARSATS BT SR T 82
Options :

1.¥ 17

2. % 34

3. % 51

4. % 68

Question Number : 44 Question Id : 54062618669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Highest Common Factor of 21.97, 15.21, 16.9, 18.59 and 20.28?
Options :

1. %3

2.% 13

3.9 1.69

4. % 13

Question Number : 44 Question Id : 54062618669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

21.97,15.21,16.9, 18.59 d¥T 20.28 WWWW%”
Options :

1. %3

2.% 13

3.9 1.69



4. % 13

Question Number : 45 Question Id : 54062618670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of (425)2 x 425— 3 x (42502 x (25)+ 3 x (35)2 x 425 —(25)2 x 257

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.20

2. 8000

3.200

4. 400

Question Number : 45 Question Id : 54062618670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(4257 x 425—-3 x (425 x (25)+ 3 x (35 x 425—(25)2 x 25 &l HIA FAT é""

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.20

2. 8000

3.200

4. 400

Question Number : 46 Question Id : 54062618671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Average of 10 numbers is 15. 2 is added to each number. What is the new average?
Options :

1. # 16

2. % 30

3.¢¥ 17

4. % 32

Question Number : 46 Question Id : 54062618671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 T3 BT 3T 15 B 1 B TTATH 2 SST SiIdT g | 71T 3d T 82
Options :

1. % 16

2. % 30

3.¢ 17

4. % 32

Question Number : 47 Question Id : 54062618672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 5 is added to a number, then number becomes 112.5 percent of itself. What is the number?
Options :

1. ¥ 40

2. % 50

3. % 45

4. % 35

Question Number : 47 Question Id : 54062618672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe Tp TBATH 5 SST S, Y TAT S(UAT 112.5 UFA=Id 81 STl 8 | S &1 82




Options :
1. ¥ 40
2. %50
3. % 45
4, % 35

Question Number : 48 Question Id : 54062618673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anil donates 30 percent of his income to a school and deposits 70 percent of the remainder in his bank. If he has Rs. 9765 now, then what is the
income of Anil?

Options :

1. % Rs. 45600
2. % Rs. 45500
3. ¥ Rs. 46500
4. # Rs. 46000

Question Number : 48 Question Id : 54062618673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST SO 3T T 30 UFARId Th el 1 G B ¢ &l & 94T AN BT 70 UFA=Id 30 9 & STHT HR ool ¢ | IS 31F I9P U 9765 30U g, <l
ST BT S T B2

Options :

1. % 45600 3T
2. % 45500 3T
3. ¢ 46500 3T
4. % 46000 3T

Question Number : 49 Question Id : 54062618674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cost price of article A is 2800 and it is sold for a profit of 16 percent. Cost price of article B is Rs. 3200 and it is sold for a loss of 8 percent.



What is the ratio of selling price of A and B?
Options :

1. % 104 : 87

2.9%203:184

3. % 179: 86

4. % 125:91

Question Number : 49 Question Id : 54062618674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I A D1 HT T 2800 T § IUT 3 16 UTIRI & ATH TR 91 91T ¢ | I B BT 96T Hed 3200 T € 94T 3 8 U= o1 81 R 9=
T E| A TUT B & fashd Yo &1 ST &1 82

Options :

1. % 10487

2.9 203 : 184

3. % 179 : 86

4. % 125:9]

Question Number : 50 Question Id : 54062618675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two numbers are in the ratio of 2 : 3. If their sum is 20, then what is the sum of the squares of the two numbers?
Options :

1. ¥ 208

2. % 196

3. % 200

4. % 324

Question Number : 50 Question Id : 54062618675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& =T 2 : 3 % gTd H € 1 Tfe Ie61 AT 20 &, A ST SRS I Il b1 AT o )2



Options :
1. ¥ 208
2. % 196
3. % 200
4. % 324

Question Number : 51 Question Id : 54062618676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what ratio tea of Rs. 130 per kg should be mixed with tea of Rs. 150 per kg so that on selling the mixture at Rs. 162 per kg there is a profit of
20 percent?

Options :
I.% 2:1
2.9 31
3.% 4:1
4. % 5:2

Question Number : 51 Question Id : 54062618676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

130 $U Ufd fo5.301. arelt I 1 150 T0 Ul foh U1, aTel = o 91 fobe Sjura o e o forad 39 s &1 162 30 ufd fas. 311, &1
ST TR 20 UfARTd &1 T4 81?2

Options :
1. % 2:1
2.9 3:1
3.% 4:1
4. % 5:2

Question Number : 52 Question Id : 54062618677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The difference between simple interest on a certain sum at the annual rate of 11 percent for 8 years and 9 years is Rs. 132. What is the sum?



Options :

1. % Rs. 1450
2. % Rs. 1200
3. % Rs. 1300
4. % Rs. 1100

Question Number : 52 Question Id : 54062618677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s AT IR TR 1 ufawrd o1 a1ftfes a3 T 8 8 auT 9 a9 & IURUT SIS & e 3R 132 T 7 | AT 182
Options :

1. % 1450 00

2. ¥ 1200 00

3. % 1300390

4. % 1100 39T

Question Number : 53 Question Id : 54062618678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car moves at the speed of 54 km/hr after repairing and moves at the speed of 36 km/hr before repairing. It covers a distance of x km in 6 hours
after repairing. How much time will it take to cover a distance of 3x km before repairing?

Options :

1. % 27 hours
2. % 32 hours
3. # 24 hours
4. % 30 hours

Question Number : 53 Question Id : 54062618678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U PR AR B & YT 54 fob 7Y /dieT 3t i T Tdall & 9T FR¥d B T U 36 fob #Y /gier 3t 1fa T Idall 8 | FIRWd R4 b
TYTd a8 x o.M D1 g Y 6 6 T T FHRll ¢ | AR Y 3§ U8l 98 3x [6. . Bt g8 1 9 o | a1 oy aefte




Options :

1.¥ 274¢
2. % 32GC
3. % 247
4. % 309¢

Question Number : 54 Question Id : 54062618679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Speed of boat in still water is 8 km/hr. If its speed in downstream is 12 km/hr, then its upstream speed is 10 km/hr.
II. A starts from point P at 8 am with speed of 50 km/hr. B starts from point P at 10 am with speed of 75 km/hr towards A. B will catch A at 2
pm.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 54 Question Id : 54062618679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & @ & 91 YT 9g 22

1. U 1 & TIfd FRR wra & 8 fob 7 /w1 B 1 afe 41 & 3 et 39! 11 12 {6 18 /21 B, Ot o1 & wfdpe s9at iy 10 f it /der 31
IL A, fdg PO 50 fo Mt AT oI A ¥ 8 Yalg W Frar g B, 9 p ¥ 75 T M /AT 1 1fd T 10 Taleg WA Ft IR T HRaAT8 1 B, A
D1 2 ARG R YH S |

Options :

1. % Had 1
2. ¥ Had Il
3. % [ QYT gHl
4. % GBI




Question Number : 55 Question Id : 54062618680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B alone can do a work in 12 and 18 days respectively. A, B and C together can do the same work in 6 days. In how many days can C do
the work alone?

Options :
1. #® 48
2. % 24
3.4 36
4. % 30

Question Number : 55 Question Id : 54062618680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TUT B 3Hba Th BT I HUR: 12 AT 18 AT TR IS G| A, B TUT C Tda: I 1 Dl 6 TGA A IR bl 81 € 31chetl foba fad o
BT R Tebell B2

Options :

1. % 48

2. % 24

3. ¢ 36

4.% 30

Question Number : 56 Question Id : 54062618681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Circumference of a circle is equal to the perimeter of a square whose side is 88 cm. What will be the area of circle?
Options :

1. % 9524 cm?

2. % 7186 cm?

3. ¢ 9856 cm?

4. % 12824 cm?



Question Number : 56 Question Id : 54062618681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS g ! URfY T a7t & URHATT & SRIeR 8, et Yol 88 A, 1 I &7 &% 1 g
Options :

1. % 9524 9.7} 2

2. % 7186 9.HI2

3. ¥ 9856 4.1 2

4. % 12824 QA1 2

Question Number : 57 Question Id : 54062618682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Area of the base of a cone is 1386 cm?. Height of the cone is 54 cm. If cone is melted to form solid hemisphere of radius 3 cm, then how many
hemisphere will be formed?

Options :
1. #® 664
2. % 332
3. % 882
4. 44]

Question Number : 57 Question Id : 54062618682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U b YR BT &0 1386 J.H12 B 1 Wb 1 FaTS 54 F.41. 21 Ul 2 ) w3 .+, Biown ardl 319 srefiet sAg 1w 8,
fopee arefmiat =TT ST

Options :

1. % 664

2. % 332

3. % 882



4. ¥ 441

Question Number : 58 Question Id : 54062618683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pie chart given below shows the salary given by a company to its seven employees. Total salary given by the company to all its employees is Rs.
720000 salary spent on a particular employee is shown in terms of degree with respect to the total salary spent on all these seven employees.

J1 = Values of total salary given to Q, R and S
J2 = Value of total salary given to T, U and V
J3 = Value of difference of salary of Q and R

What is the value of (J2 —J1 —J3)?
Options :

1. # Rs. 420000

2. % Rs. 320000

3. % Rs. 220000

4. % Rs. 230000

Question Number : 58 Question Id : 54062618683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i e T urg Are U U gRT 31U AT HHATRG] DI fIT T 3 Y gRifdT 8 1 HUAT gRT 3 Tt el & foan e d daq



720(%)0m%| T ARy HHaRI R T4 6T TN 9d &1 37 T Ad HHARAT R T &1 15 $of da- & dey & {5 & = u o g=ifan
TG

G

J1=Q, R YT S &I AT MY Hd I &1 O
12="T, UdYTV &I faT 7T e a1 dH
J3=QTYTR & da- & 3R &AM

(J2 - J1 - J3) BT HHE FT 82
Options :

1. % 420000 ¥TY

2. % 320000 ¥0Y

3. ¥ 220000 3T

4. % 230000 T

Question Number : 59 Question Id : 54062618684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the pocket money of six boys B1, B2, B3, B4, B5 and B6 in a month.



2800

1600

Bl B2 B3 B4 B5 Bo6

Which of the following statement(s) is/are correct?

I. Pocket money of B2 is 5.25 percent less than the pocket money of BS.
II. Pocket money of B4 is 6.25 percent less than the pocket money of BS.
III. Average pocket money of all the six boys is Rs. 2262.5

Options :

1. % Only I
2.% Only II
3. % Only I
4. % Il and III

Question Number : 59 Question Id : 54062618684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= fear a1 Wt o U HEH H 98 @S@! B1, B2, B3, B4, B5 AT B6 &1 Uidhe U+l &) <2IfdI B



2800

1600

Bl B2 B3 B4 B5 Bo6

Prffad & 9 o 918 $uT g8l 2787

1. B2 1 Ulbc HAT, BS &1 Uldhe A1 T 5.25 Ufa=Id HH g |
1. B4 &1 UTdhe T, B5 1 Uldbe AT T 6.25 UfAd HH B
111, g4 T8 TSH! B Uldhe A BT 3T 2262.5 U g

Options :

1. % $had |
2. ¥ Had I
3. % ohad I
4, % [ YT

Question Number : 60 Question Id : 54062618685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the production of soaps (in thousands) by two companies P and Q from June to October.



72 76 72

64 65

48

June July Aug Sep Oct
OP mQ

Which of the following statement(s) is/are correct?

I. Total number of soaps produced by P in July is 28.5 percent more than Q in that month.

II. Total number of soaps produced by P in August is 18.5 percent more than Q in that month.
II1. Total number of soaps produces by P and Q in September is 144000.

Options :

1. % Only I
2. % Only II
3. % Only III
4. ¥ 1l and 111

Question Number : 60 Question Id : 54062618685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e a1 us ol S ¥ SfeER a &l B P aUT Q GRT AT & Sd1G (§9IR H) & g g
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33

48
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68

16

65

OP mQ

o

72

PufiiEd & ¥ S 98 sy I 2/

1. TS H P GRT SATed g1 &1 G WS 39 HeH J Q ¥ 28.5 Wia=rd 34 B

I1. 3P § P gRT IATCd ITEHI &1 $of T 3T HeH H Q  18.5 Ufa=Id 31ferep 3|

111 RdeR & P qUT Q GRT SadTed AT B Hot HBAT 144000 & |

Options :

1. % PHadl

2. % Had Il
3. % Had I
4. ¥ 1 QYT

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

General Hindi
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540626707
0
0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Hindi

Section Id : 540626889
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261073
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54062618686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
{3 1T Xsg 1 THN J1d HIfSTT|

TSl

Options :

1. % TG Ia™
2. % HUYRY TAN
3. % g aaNg

4. ¢ Sgdife qAr



Question Number : 61 Question Id : 54062618686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 7T Ieg &1 IHN J1d HifT|

TS eadl
Options :

1. % 3G JaN
2. % HHYRY U
3. % fgrauN

4. ¥ Sgdife I

Question Number : 62 Question Id : 54062618687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foT U Treg 1 ©fY I ST
fdp + T

Options :

1. % fadmdl
2. ¢ feaTal
3. # faTel
4. % fdpT

Question Number : 62 Question Id : 54062618687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T Tree; 1 I I BT
%JFTI\_IT

Options :

1. % foadhol



2. ¢ fauTS
3. % fadTSl
4. % faHTy

Question Number : 63 Question Id : 54062618688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T Tsg &t AT AT BT
=31

Options :

1. % SfTfadrae T3

2. % gdrad Il

3. ¢ JHgdrad I3
4. % Hfqqaras Il

Question Number : 63 Question Id : 54062618688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fU T Xrec &1 I I1d S|
T3T

Options :

1. % SffadTad 93
2. % GdTIdD Il
3. ¥ GUgarde 43
4. % faqarde I

Question Number : 64 Question Id : 54062618689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 1T Toc g 1 el WWsg i 1T BT



YU : GRUY
Options :

1. % faarg . uH
2. % fgarg : fawdg
3. wﬁ@?:ﬂg?ﬂ
4.+ U9 - fqarg

Question Number : 64 Question Id : 54062618689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T Yo g 1 el Weg i A1 BT

Jur - GRU™
Options :

1. % fgarg . UH
2.53]%313:%%?{
3. Wﬁ@?:?‘lﬂﬂ’[
4.#1341?:%6@

Question Number : 65 Question Id : 54062618690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 77U a6 T IUGad Teg BT 99 IR Rad RIM DI el DI
TG0 &1 THET 37151 IR Y o e R &1 T ]

Options :

1. # YR
2. % J{HYRU
3. % Ade

4. ¢ faapT




Question Number : 65 Question Id : 54062618690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 77U a6 T IUGa Teg BT 99 IR Rad RIM DI el DI
TGN B JERT 37191 9K 4y & e T g9 T g

Options :

1. # YR
2. % YR
3. % Ade

4. ¢ faapT

Question Number : 66 Question Id : 54062618691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 71U <req T H1 T Xsa FH I DI

3 : 3

Options :

1. % g3: 97
2.*%:5

3. Wgﬁ:ﬂa

4. ¢ ARNT: SIfd BT g

Question Number : 66 Question Id : 54062618691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faq TTU e g 1 el Woq I 1A DI
3G : 3G

Options :

1. % 39: YA



2.*%’[:5
3. Wtﬁ:ﬂ?{
4. <RI : Ifef BT G

Question Number : 67 Question Id : 54062618692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 77U wre &1 faaH e J1d BT

S UYTU
Options :

1. % Yo

2.« HGIUIl
3. % fAgror
4, % 3Hled

Question Number : 67 Question Id : 54062618692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T Tsg o1 fT Tsg J1d P

SHeUYTU
Options :

1. % TI07

2.« HgIUTl
3. % fgror
4, % 3ed

Question Number : 68 Question Id : 54062618693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafied & § &1 91 Wsg 1 Thae § g1 TR-ad gidl g2




Options :
1. % Us
2. % AR
3.9 OlAdl
4, % ASDH]

Question Number : 68 Question Id : 54062618693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & 91 ¥sg A Uhda | €1 wgad 81T /2
Options :

1. % U3

2. % AR

3. ¢ SAdl

4, % dgpl

Question Number : 69 Question Id : 54062618694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fear T are fohg uel o1 ISTERUT §, JTd HIed |
B AT R g

Options :

1. % guf

2. % 3Uf

3. % [

4. ¢ RIS Ugf

Question Number : 69 Question Id : 54062618694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



feam T a1 T uel o1 ITeR0I B, JTd HIfoTg|
BA AT R G

Options :

1. % gof

2. % 3ol

3. % A

4. ¢ TRUTUTHS U

Question Number : 70 Question Id : 54062618695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeRad ot & 9§ Y a1’ BT 99 Diforg|

Options :

1. % o faeeh fayfaemera &1 wHaial & TRUAR faan
2. ¢ T [ayfaenerd &1 T HHaR! TRWR 81 4Tl

3. % facelt fayfaeeral & Ueb HH=RAl o1 TRUR fobar|
4. % U9 feah fayfasmerd &1 HHaR! RRUAR 81 e |

Question Number : 70 Question Id : 54062618695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad ot O @ Y a1 &1 9949 Diford|

Options :

1. % T feeell fayfaarera o1 pHamal o fREIR foar|
2. ¢ fecdl fayfarTera &1 T HHaRt ARUR 81 |

3. % feoh fayfaeneal & ue Hoaral o IRER faar
4. % TS fecet fayfaemer &1 HHaR! IRUER 8t S|

Question Number : 71 Question Id : 54062618696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafeRad arei O 9 iy a1y F1d Fifor|
Options :

1. % g Ug-d B dTell Uh fad Mgy |

2. % Y U Afad AT 3R a8 Hg-Id Bl gl
3. % O Ush faq A1fg oifds- ag Hg-d a1 8l
4. ¢ T3 U U1 Ao Mgy S Hg-Id HRdl gl |

Question Number : 71 Question Id : 54062618696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot Tl # § firy a1 1d Siforg|
Options :

1. % T AT DA dTcl Ueb Al AN |

2. % T2 U fad AT 3R 98 Hed Hal gl
3. % O U faq A1fgT difds1 ag Ug-d a8l
4. ¢ T3 U U1 Al AT S Bg-Id DRl gl |

Question Number : 72 Question Id : 54062618697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T arR & Iuged favm fag &1 994 Fifo |
fes: Tl aga T B

Options :

1. % JfgfaRm

2. % JUfRM

3. ¢ fawmanfealys

4, ® JYdrdsd

Question Number : 72 Question Id : 54062618697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fau U a1y & Iuged form fag &1 o+ pifor |
fes: Tt o 9gd e B

Options :

1. % 3fgfaR™

2. % JUfRH

3. ¢ fowfeaiy®
4. ® JYdddh

Question Number : 73 Question Id : 54062618698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T arR & Iuged favmw fag &1 994 pifo |

qH e 33
Options :

1. % HIYD
2. % guifaRH
3. JYddd

4. % 3o

Question Number : 73 Question Id : 54062618698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1y & Iuged form fag &1 o+ Fifor|
q9 &Hd IS

Options :
|. % DD
2. % JUIfaR™




3. ¢ JYdidd

4. % 3o

Question Number : 74 Question Id : 54062618699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fau U IR faweat & 9§, 39 fadmen &1 7997 &3 S fou U geTak & 31 ol Ia9% U § ogad Rl ¢ |
Igal fafsar & v =1

Options :

1. % 33 BT UG gX HAT
2. ¢ 3{Hdl g

3. % g gy A

4. % ZUt gs Uyt

Question Number : 74 Question Id : 54062618699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad we , fou 0 oR fawedl & 9, 39 fadmed &1 997 & S fou U geTar & 31 ol Ia9% U I oJad HRdl ¢ |
Isal Fafsar & u@ =1

Options :

1. % 3 BT UG g2 Bl
2. ¥ YA BT

3. % 0 gy TaMl

4. % ZUt g8 Ut

Question Number : 75 Question Id : 54062618700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fau U IR faweat & 9§, 39 fadmen &1 997 & 51 fou U geTark & 31 ol Yd9% U § ogad Rl g |




SR BT IR BT BT
Options :

1. ¢ §-3a%= gl

2. % ga R YIST W Bl
3. % S I TRATE 9 HRAT
4. % Do AN

Question Number : 75 Question Id : 54062618700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawed & 9, 39 fadwed &1 9o 3 o1 fT 70 JRTer & 31 &1 Jd98 U I oJad HRal o |

SR BT IR BT
Options :

1. ¢ S-3&% gl

2. % ga R YIS Td Bl

3. % S Pl URATE - BT

4. % DHAD T

Sub-Section Number : 2
Sub-Section Id : 5406261074
Question Shuffling Allowed : Yes

Question Id : 54062618701 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

f3Q 71T T B eaYde Ufeu 3R 3T U vt & IR |

g Hifer 3 TelAe o ST SrHGRY S, A GUR S8 HEH! & Fefd HR & FHIHID FATS o FAf0r 1 7fd U 11§99 Bic a
A TR & (Al Bt qraTiord-id fRUfd & GUR g 3R T I8 RIef aUT Ioidd da-1 & fasr gl gk wifa & sfard
MYfAF qh-11h 3R WGl BT UGS TR HXb YW WR IS F SHfUF B ST b1 YA o 71| 39 forg 5id et 7 o
RIS el BT YT [T T df Yff & IdRe &fdl &4 81 Tt | RS & it T & sRo Y ° 90 &t 7w ot 9¢ it gRa
Hifd S & Hiuy Fe! SI-uSTTE, gRaron, iy 3R Uewr sfe # g1 dfa 21 ord: 37 &4 &1 doit I fawr g afth S & o &




gRd wifd ¥ dferd 38 | 58 gRa wifd &t IR 4 et O, 519 16 & &= & g H 313! HUd ol gs Al 3R fbTd & grard Ul 8l
T 3, WfbT ST 3l 57 YT, HRA H AP W YR&{ 1 G BT 3R SRR Gl U H S8 SilY ot 3D JH I677 HRA Bl
WS & JdTe H AR ST 11 g shifdd H Gerd: Tg o Icdre WR =y SR & a1 Ui 3i1el HRd Tt & Il & ArHe §
g@ﬂww&mﬁﬁﬁw%amuﬁﬁgﬁ?am%wmﬁﬁﬁgw IR qaY 981 IATEH 3R A1ad &1 Y8 g1 (Hafdeds a9 T

|

Sub questions

Question Number : 76 Question Id : 54062618702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg a1 H 3Tl & BTelTd UaT 81 7Y 32
Options :

1. % I & b

2. ¥ W13 & XD

3. % 3l b B

4. % §iG D XD

Question Number : 77 Question Id : 54062618703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
URA H 39 Hifd T I 3579 FT UT?
Options :

1. % IS Q@ial &1 IanT

2. % U Pt IR & HH BT

3. % 3IYFp dh-id! BT TR

4. TRIE & I | AR

Question Number : 78 Question Id : 54062618704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rarg 31 HRA & BRI YA T Hft Fuf Ieoat g1 et oo

Options :



1. % 3MTHTd & gTard

2. ¢ TS B HET 3B

3. % YD Wel ol iU A=
4. % IRD &HAT HH

Question Number : 79 Question Id : 54062618705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g T IMTCH B aTa (9% BT gURT o= B AT g2
Options :

1. % dH

2. ¥ HRd

3. % %Y

4, % U

Question Number : 80 Question Id : 54062618706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T TR 1 U XMy H F1 R

Options :

1. + gRa wifd

2. % grATIe-3fe fRufa

3. ® fR1e qyT ISHfae I &1 faerg
4. % TIg BT 3G

Question Id : 54062618701 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

f&u 7T TerTR Y eagd s ufed SR AT e s % IR v

gikd wifd 3 TdAdr & a8 THiGRT S, YA YR S HeH! & Iad HRd B JHARdS GHTS & U0 &) 1fd Ue &1 Sea 81 d
AT TR & (Ham &t AraToID- S fRUfd F R g 3R S99 34 RI&T qUT IAoidd a1 &1 fawmr gof| §1kd hifd & Siavid




YD dbeilfp 3R WGl BT YBIYS TR By YA IR YD F 31U Hel ST &1 Uar a1 71| 39 g 5id 91 A |
A WTG! &1 TN foedT 1T o 4 &1 SR &HdT B gl T | R & i Ta & SR Ul & 0@ &) 016 o 96 1| gikd
Shifd <=1 & HiauY fgwal SI-uoTd, gRATon, TiEedt IR UexT onfe & g1 dfsd o1 31a: 77 &= &1 doll ¥ fda o Afcr <=1 & o7 &5
givd wifd § dferd 38 T &9 ga wifd &t IRun a9 firett W, 59 TTe & <@ & A 3ra ad el g3 of 3R 311 & gIad Ul &l
T A, Al DT Sl IR U1, HRA H AP e Y& BT AT BT 3R 3R T FU H FoT ST ol S & 3579 HRA Bl
WS & JdTe H AR ST 11 g shifdd H Go&d: T o IcuTe WR =iy SR f&am 711 Ui1 3iTel HRd Tt o Idia & HHe §
g@ﬁﬁ?w&mﬁlﬁﬁw%amﬂﬁﬁﬁaﬁ?mﬂﬁ%Wﬁﬁ%m CIRT I §8T IATGH 3R 19 T JaY &1 Haiad a1 T
|

Sub questions

Question Number : 76 Question Id : 54062618702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
for g2 H ATHTA & BIelTd UeT 81 T 32
Options :

1. % U & &GP

2. ¥ IS b VD

3. % 3% & TD

4. % SN P D

Question Number : 77 Question Id : 54062618703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
URd H 39 Pifd BT qeT 3579 T UT?
Options :

1. % GRS @ral BT YA

2. % U Pt IR & HH BT

3. % 3IYFd dh-i! BT TR

4. QT & IcATe H SHTHMHRAT

Question Number : 78 Question Id : 54062618704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Rare 3ife Fx & HRU Y H Hu Rufd I g1 Tt o

Options :
1. ® 3AHTA b AT

4. % I &l HH

Question Number : 79 Question Id : 54062618705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIg 1 SUIGe hR- aTel 9% BT GURT GV DI A &7
Options :

1. % dH

2. ¥ HRd

3. 8 %Y

4. % SO

Question Number : 80 Question Id : 54062618706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T TR 7 Suged XY S F1 R
Options :

1. ¢ giRd ohifd

2. % grHTfoIH-3fes fRuf

3. % TR1&1 TUT oM a1 oI [ddr
4. ® TIg BT 3G

General English

Group Number : 5
Group Id : 540626708



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English

Section Id : 540626890

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261075

Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54062618707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

He have never (1)/and will never take your (2)/suggestion on this project. (3)/No error (4)
Options :

1. ¥ He have never

2. * and will never take your

3. % suggestion on this project.

4. % No error



Question Number : 81 Question Id : 54062618707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

He have never (1)/and will never take your (2)/suggestion on this project. (3)/No error (4)
Options :

1. ¥ He have never

2. # and will never take your

3. % suggestion on this project.

4. % No error

Question Number : 82 Question Id : 54062618708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Higher education policy must seek (1)/ a higher transition rate between(2)/ first university to doctoral degrees. (3)/ No error (4)

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. Higher education policy must seek
2. a higher transition rate between

3. first university to doctoral degrees.
4. No error

Question Number : 82 Question Id : 54062618708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



Higher education policy must seek (1)/ a higher transition rate between(2)/ first university to doctoral degrees. (3)/ No error (4)

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Higher education policy must seek

2. a higher transition rate between

3. first university to doctoral degrees.

4. No error

Question Number : 83 Question Id : 54062618709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

At the age of 83, she published her first book. What an inspiring!
Options :

1. % What a inspiration
2. % What an inspiration
3. ¥ What a inspiring

4. ¥ No Improvement

Question Number : 83 Question Id : 54062618709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

At the age of 83, she published her first book. What an inspiring!
Options :

1. * What a inspiration

2. % What an inspiration



3. % What a inspiring

4. ¥ No Improvement

Question Number : 84 Question Id : 54062618710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

I usually did not add cheese to my toast.
Options :

1. # do not added

2. % do not add

3. # did not adding

4. % No Improvement

Question Number : 84 Question Id : 54062618710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

I usually did not add cheese to my toast.
Options :

1. * do not added

2. % do not add

3. % did not adding

4. ¥ No Improvement

Question Number : 85 Question Id : 54062618711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.



No matter how tough a situation gets, you can always it with your will power.
Options :

1. % covert

2. % overwhelm

3. % come

4. ¥ overcome

Question Number : 85 Question Id : 54062618711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

No matter how tough a situation gets, you can always it with your will power.
Options :

1. % covert

2. % overwhelm

3. #® come

4. ¥ overcome

Question Number : 86 Question Id : 54062618712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

She is the girl stole my handbag.
Options :

1. * that

2. % whom

3. % which

4. ¥ who

Question Number : 86 Question Id : 54062618712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

She is the girl stole my handbag.
Options :

1. % that

2. % whom

3. % which

4. ¥ who

Question Number : 87 Question Id : 54062618713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

In the Hellenistic Age,

P: Jews’ social segregation and their refusal to

Q: pagans, particularly in the 1st century BCE—Ist century CE
R: people aroused resentment among some

S: acknowledge the gods worshiped by other

Options :

1. * PQSR
2. % RQPS
3. ®* SQPR
4. ¥ PSRQ

Question Number : 87 Question Id : 54062618713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

In the Hellenistic Age,
P: Jews’ social segregation and their refusal to
Q: pagans, particularly in the 1st century BCE—Ist century CE



R: people aroused resentment among some
S: acknowledge the gods worshiped by other

Options :

1. # PQSR
2. % RQPS
3. ¥ SQPR
4. ¥ PSRQ

Question Number : 88 Question Id : 54062618714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: knowledge about their subject matter, ideally that provided by the medium in which they are published
Q: understood, they require that readers possess some basic background

R: of current and newsworthy political issues, and, in order for them to be

S: the subject matter of political cartoon is usually that

Options :

1. # PRSQ
2. % QPRS
3. ¥ SRQP
4. % PRQS

Question Number : 88 Question Id : 54062618714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: knowledge about their subject matter, ideally that provided by the medium in which they are published
Q: understood, they require that readers possess some basic background

R: of current and newsworthy political issues, and, in order for them to be

S: the subject matter of political cartoon is usually that

Options :

1. % PRSQ



2. % QPRS
3. ¢ SRQP
4. % PRQS

Question Number : 89 Question Id : 54062618715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Consistent
Options :

1. # Slow
2. ¥ Steady
3. # Often
4. % Certain

Question Number : 89 Question Id : 54062618715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Consistent
Options :
1. % Slow
2. ¥ Steady
3. # Often

4. % Certain

Question Number : 90 Question Id : 54062618716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.



Appellant
Options :

1. #¥ Litigant
2. % Accuser
3. ¥ Defendant
4. #* Plaintiff

Question Number : 90 Question Id : 54062618716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Appellant
Options :

1. % Litigant
2. # Accuser
3. % Defendant
4. #* Plaintiff

Question Number : 91 Question Id : 54062618717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. * Intirnational

2. % International

3. % Intirnationel

4. % Internationel

Question Number : 91 Question Id : 54062618717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Intirnational

2. ¥ International

3. % Intirnationel

4. % Internationel

Question Number : 92 Question Id : 54062618718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.
Options :

1. # Clinical

2. % Dictionery

3. # Bilingual

4. % Redemption

Question Number : 92 Question Id : 54062618718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.
Options :

1. # Clinical

2. ¥ Dictionery

3. % Bilingual

4. ¥ Redemption

Question Number : 93 Question Id : 54062618719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.



To bell the cat

Options :

1. # To become angry

2. % Abandoned

3. % To attempt something dangerous

4. % To run away

Question Number : 93 Question Id : 54062618719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To bell the cat

Options :

1. # To become angry

2. # Abandoned

3. % To attempt something dangerous

4. # To run away

Question Number : 94 Question Id : 54062618720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To paddle one’s own canoe
Options :

1. # To struggle for recognition
2. % To destroy one’s chances
3. % To never give up

4. ¥ To depend on oneself alone

Question Number : 94 Question Id : 54062618720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To paddle one’s own canoe
Options :

1. # To struggle for recognition
2. # To destroy one’s chances
3. % To never give up

4. ¥ To depend on oneself alone

Question Number : 95 Question Id : 54062618721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A young horse
Options :

1. # Fawn

2. # Drove
3. % Foal

4. # Kitten

Question Number : 95 Question Id : 54062618721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A young horse
Options :

1. ¥ Fawn

2. # Drove
3. ¥ Foal

4. % Kitten



Sub-Section Number : 2
Sub-Section Id : 5406261076
Question Shuffling Allowed : Yes

Question Id : 54062618722 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
Read the following passage carefully and answer the given questions.

In Massachusetts, black bears have expanded from a small isolated population in the Berkshire Mountains to an estimated 4,500 bears across the
state. Massachusetts is the third-most densely populated state in the nation, and human development is expanding, sometimes putting bears and
people in close proximity to one another.

Why would black bears use populated areas? They are omnivorous opportunists with a good sense of smell, and can sniff out calorie-rich foods

that often are found in developed areas, such as bird seed, pet food, garbage and even agricultural crops. These foods may be especially attractive
to bears before and after hibernation, when the animals are living solely off stored body fat.

Before hibernation in the fall, bears enter a metabolic state called hyperphagia — literally, excessive eating — in which they consume 15,000 to
20,000 calories a day. That’s roughly equivalent to eight large cheese pizzas or five gallons of chocolate ice cream.

During hibernation bears can lose up to one-third of their body weight. And after they emerge from their dens in springtime, natural foods are
typically scarce until plants start to leaf out and flower.

Black bears’ energy requirements during these phases can drive their behavior. After examining the data from 76 black bear GPS collars across
central and western Massachusetts it was seen that black bear moved around more in daytime than at night, and avoided humans and developed
areas during the day. However, we also found that in spring and fall, when the bears had increased caloric demands, they altered their natural
daily rhythms to move through human-developed areas at night.

Sub questions

Question Number : 96 Question Id : 54062618723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the primary purpose of the passage?

Options :

1. ¥ To describe how black bears adapt to life near humans
2. % To analyze the behavior of black bears during the night
3. # To explain the eating habits of black bears

4. % To evaluate the decline in the number of black bear

Question Number : 97 Question Id : 54062618724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Black bears’ energy requirements during these phases can drive their behavior.” Which phase is the author talking about here?
Options :

1. ¥ When bears are hungry

2. ¥ When bears are hibernating

3. % When bears are in hyperphagia

4. ¥ When bears wake up from hibernation

Question Number : 98 Question Id : 54062618725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct synonym of the word ‘meagre’ from the given passage?
Options :

1. ® Consume

2. ¥ Scarce

3. # Alter

4. % Solely

Question Number : 99 Question Id : 54062618726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT true according to the given passage?

Options :

1. # Black bears have good sense of smell and can track calorie-rich food around them.

2. % Before going in the hibernation phase, black bears consume lots of food.

3. ¥ During hibernation black bears tend to gain more weight due to calorie-rich food consumption.

4. % When the bears have increased caloric demands, they move out at the night in search of food.

Question Number : 100 Question Id : 54062618727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As per the given passage, when does the black bear come out of the hibernation stage?



Options :

1. ¥ Springtime
2. # Autumn

3. % Summers
4. ¥ Winters

Question Id : 54062618722 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
Read the following passage carefully and answer the given questions.

In Massachusetts, black bears have expanded from a small isolated population in the Berkshire Mountains to an estimated 4,500 bears across the
state. Massachusetts is the third-most densely populated state in the nation, and human development is expanding, sometimes putting bears and
people in close proximity to one another.

Why would black bears use populated areas? They are omnivorous opportunists with a good sense of smell, and can sniff out calorie-rich foods
that often are found in developed areas, such as bird seed, pet food, garbage and even agricultural crops. These foods may be especially attractive
to bears before and after hibernation, when the animals are living solely off stored body fat.

Before hibernation in the fall, bears enter a metabolic state called hyperphagia — literally, excessive eating — in which they consume 15,000 to
20,000 calories a day. That’s roughly equivalent to eight large cheese pizzas or five gallons of chocolate ice cream.

During hibernation bears can lose up to one-third of their body weight. And after they emerge from their dens in springtime, natural foods are
typically scarce until plants start to leaf out and flower.

Black bears’ energy requirements during these phases can drive their behavior. After examining the data from 76 black bear GPS collars across
central and western Massachusetts it was seen that black bear moved around more in daytime than at night, and avoided humans and developed
areas during the day. However, we also found that in spring and fall, when the bears had increased caloric demands, they altered their natural
daily rhythms to move through human-developed areas at night.

Sub questions

Question Number : 96 Question Id : 54062618723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the primary purpose of the passage?

Options :

1. ¥ To describe how black bears adapt to life near humans
2. % To analyze the behavior of black bears during the night
3. # To explain the eating habits of black bears



4. ¥ To evaluate the decline in the number of black bear

Question Number : 97 Question Id : 54062618724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Black bears’ energy requirements during these phases can drive their behavior.” Which phase is the author talking about here?
Options :

1. ¥ When bears are hungry

2. ¥ When bears are hibernating

3. % When bears are in hyperphagia

4. ¥ When bears wake up from hibernation

Question Number : 98 Question Id : 54062618725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct synonym of the word ‘meagre’ from the given passage?
Options :

1. ® Consume

2. ¥ Scarce

3. # Alter

4. % Solely

Question Number : 99 Question Id : 54062618726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT true according to the given passage?

Options :

1. # Black bears have good sense of smell and can track calorie-rich food around them.

2. % Before going in the hibernation phase, black bears consume lots of food.

3. ¥ During hibernation black bears tend to gain more weight due to calorie-rich food consumption.

4. % When the bears have increased caloric demands, they move out at the night in search of food.

Question Number : 100 Question Id : 54062618727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the given passage, when does the black bear come out of the hibernation stage?

Options :
1. ¥ Springtime
2. % Autumn

3. # Summers

4. * Winters
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Question Number : 101 Question Id : 54062618728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i 308 2. G4
If the determinant of the matrix | 2 6 4 | is —P, then what is the value of determinant of the matrix | 4 12 8|7
=102 =2 0 4
Options :
1. # 8P
2. % 4P
3. % 4p
4. & 8P

Question Number : 101 Question Id : 54062618728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 39 2 6 0

afe BfeFw | 2 6 4 |F1 Befdde -P 2 ar 3fesw | 4 12 5 |F FEefase & A= sar 22
=02 =0 A

Options :

1. ® 8P

2. % _4p

3. % 4P

4. v _8P

Question Number : 102 Question Id : 54062618729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If Sx = Sy = 12, Sx? = Sy? = 45, Sxy = 41 and n = 5, then what is the value of byy (regression coefficient)?
Options :

71
1 #® 81

61

) v 81

a1
61

31

Question Number : 102 Question Id : 54062618729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG Sx = Sy = 12, Sx? = Sy? = 45, Sxy = 41 AT n = 5 &, dl by, DT HH 1 8 (R BITBIYYC)?
Options :
71
1 #® 81

61
» 81

a1

3“‘;ga



31
71

Question Number : 103 Question Id : 54062618730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An anti-air craft gun can take a maximum of 4 shots at an enemy plane moving away from it. The probabilities of hitting the plane at the first,
second, third and fourth shot are 0.6, 0.5, 0.4 and 0.2 respectively. What is the probability that the gun hit the plane?

Options :

1. ¥ 0.904
2. % 0.924
3. #* 0.804
4. % 0.824

Question Number : 103 Question Id : 54062618730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TSR HITE T I §R SITd gU G=A- & faHH WR 3ifeierdd 4 Uie o bt o | U8d, TR, TR 3R 1Y R R 30 &1 fke &
! TS HHT: 0.6, 0.5, 0.4 3R 0.2 81 39 &1 B! 1 WAGAT § b 74 faue &) fge Hfto

Options :

1. ¥ 0.904

2. % 0.924

3. % 0.804

4. % 0.824

Question Number : 104 Question Id : 54062618731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a public limited company, the minimum number of shareholders is
Options :

1. # Nine



2. % Four
3. ¥ Seven
4. % Ten

Question Number : 104 Question Id : 54062618731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Uit fifies Hol o, ARURBI BT A T gt gl
Options :

1% R

2. % IR

3.9 9Id

4. % Y

Question Number : 105 Question Id : 54062618732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the shortcut key to find and replace action in MS-Word?
Options :

1. ¥ Ctrl+H

2. % Cul+R

3. % Ctrl+D

4. % Ctrl+A

Question Number : 105 Question Id : 54062618732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MS-Word H BT$8 qYT RUc T & fou & € Fidhe &t g2
Options :

1. ¥ Ctrl+H

2. % Cul+R




3. # Ctrl+D
4, % Ctrl+A

Question Number : 106 Question Id : 54062618733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of FORTRAN computer programming langauge?
Options :

1. ¥ Formula Translation

2. # First Translation

3. % Formula Transition

4. % First Transition

Question Number : 106 Question Id : 54062618733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIX TIRIHT ¢7dsl FORTRAN &1 S &9 &1 82
Options :

1. ¥ BIYdl gieRE

2. % B CIaRH

3. % HIHar ¢iforRH

4. % B IfGRH

Question Number : 107 Question Id : 54062618734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The memory resident components of an operating system are commonly known as the of the operating system.

Options :
1. * blocks
2. % kernel

3. % partition



4. # segments

Question Number : 107 Question Id : 54062618734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH HTRFET Ren & TARI INTST Ueh! &Y MAR W ATRETReT S F YA TGI8
Options :

1. % Sl

2. ¥ FHd

3. % iR

4. % JHC

Question Number : 108 Question Id : 54062618735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a typically interpreted language?

I.C
II. Perl

Options :

1. * Only I

2. % Only II

3. % BothIandII
4. * Neither I nor II

Question Number : 108 Question Id : 54062618735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad 5 3 & i e ke wu 3 HisiaRd ddd 82

I.C
II. Perl

Options :



1. % FHadl
2.¥ HAd Il
3. % [QUT I gl
4. % 1B

Question Number : 109 Question Id : 54062618736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
There are three main concepts that any language needs to support to be an object-oriented language. Which of the following is one of them?

I. Encapsulation
II. Inheritance
II1. Polymorphism

Options :

1. ® Tand II

2. % Il and III
3. % Iand III

4. % 1,11 and III

Question Number : 109 Question Id : 54062618736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gﬂ;rﬁﬂ? Hdéwﬂlﬁ%ﬁrl%wtﬁélaw B, feoige-3fiRues das 8H & forg, grda 3 ot srawgsar gidl 81 Fafafea # Qo @t
Udh 57

I. TIhWIARH
IL. 3R

111 gieHifthas
Options :

1. % 19T

2. % (1Y
3. % [ YT

4. 1, 11 dYT 111




Question Number : 110 Question Id : 54062618737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the total number of elements in a array E[-4 : 1, 6 : 10]?
Options :

1.+ 30

2. % 20

3.9

4. % 11

Question Number : 110 Question Id : 54062618737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Th WE[4: 1,6:10] T 3aTdl & G AT 1 82
Options :

1. ¥ 30

2. %20

3.%9

4. % 11

Question Number : 111 Question Id : 54062618738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which data structure is used to indicate that the order of the processing of data must be postponed until other conditions are fulfilled?
Options :

1. ® Array

2. * Linked list

3. ® Trees

4. ¥ Stack

Question Number : 111 Question Id : 54062618738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fore ST a1 &1 IUUNT I8 §aH & fore fasa 5iran & fr et o1 TR & %1 & 30 Tdl & R 8H da Riffia fosar s anfee?
Options :

. ® W

2. % foige fore

3. % ¢l

4.V KD

Question Number : 112 Question Id : 54062618739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the worst case running time of quick sort algorithm?
Options :

1. % O(x)

2. ¥ O(x?)

3. ¥ O(x logyx)

4. % O(x logyx?)

Question Number : 112 Question Id : 54062618739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fehe TIC TANNYA HT I B (T <5H 1 82
Options :

1. # O(x)

2. ¥ O(x?)

3. % O(x logyx)

4. % O(x logyx?)

Question Number : 113 Question Id : 54062618740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is the polish notation of the given infix expression?

(A*B+C)(E-F * Q)
Options :

1. # +*/ABCE*FG

2. ¥ [+*ABC-E*FG
3. #¥ /ABC+*-E*FG
4. ¥ +/ABC*-E*FG

Question Number : 113 Question Id : 54062618740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa8 T SfthaT TaTURA 1 uifer AeRH T 82

(A*B+C)(E-F *Q)
Options :

1. % +*/ABCE*FG

2. ¥ [+*ABC-E*FG
3. ¥ /ABC+*-E*FG
4. % +/ABC*-E*FG

Question Number : 114 Question Id : 54062618741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the output of the code written in C?
void main()

{

int k=8, v=8.1;

1=k/++v;

printf("%d\n",1);

b

Options :



1.¥0
2.%1
3. % 0.8

4. % Error

Question Number : 114 Question Id : 54062618741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
C 7 forg T BTS BT 3MM3TYC T 52
void main()

{

int k=8, v=8.1;
i=k/++v;
printf("%d\n",1);
b

Options :
1.¥0

2. % 1

3. % 0.8

4. % Ffe

Question Number : 115 Question Id : 54062618742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following new-order strategy for traversing a given tree.

L. Visit the right subtree of a Node using new-order
II. Visit the Node
III. Visit the left subtree of a Node using new-order



What is the new-order traversal of the given tree?

P
AWA
/\

NN

Options :

1.¥Z V.Y, X,W,P,S,U,TQ,R
2. RQT,US,PWX,Y,V,Z
3. PW. X, Y,V,Z,R,Q, T,U,S
4. % SUTQR,Z VY, X, WP

Question Number : 115 Question Id : 54062618742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T S bt ¢a¥i A o forg fmferfad =g 3ifSR IuHIfd R AR e
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Options :

1.¥Z, V,Y,X,W,PS UTQ,R
2.% R, Q,T,U,S,PW,X,Y,V,Z
3. PW,X,Y,V,Z,R,QT,U,S
4. % S UT,QR,Z,V,Y,X,W,P

Question Number : 116 Question Id : 54062618743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider a binary search tree given below.



22

What is the pre-order traversal of binary search tree after node 14 is deleted?
Options :

1. % 7,10, 11, 13, 16, 18, 20, 22, 25

2.¥16,10,7,13, 11,20, 18, 25,22

3. % 16,7, 10, 13,11, 18, 22, 20, 25

4. % 25,20,22,18, 11,13, 10, 16, 7

Question Number : 116 Question Id : 54062618743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R fau T A T A R R B
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Options :

1. % 7,10, 11, 13, 16, 18, 20, 22, 25

2.%16,10,7,13, 11, 20, 18, 25, 22

3. % 16,7,10,13, 11, 18, 22, 20, 25

4, % 25,20,22,18, 11, 13,10, 16,7

Question Number : 117 Question Id : 54062618744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following C declaration. Assume that objects of data type short, float and long occupy 2 bytes, 4 bytes and 8 bytes respectively.
What is memory requirement for variable t?

struct {

short a[5];

union {

float v;

long z;}

u’

it

Options :

1. # 22 bytes



2. ¥ 18 bytes
3. ® 24 bytes
4. % 10 bytes

Question Number : 117 Question Id : 54062618744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafiafad ¢ STRIA | AR &3 | AH o o e, e 3R AT ST UHR & Hieoiae HHI: 2 3y, 4 93¢y 3R § Ty g0 I

| t aRTSa & forg forat AHRT &1 STa=adhar gii?
struct {

short a[5];

union {

float v;

long z;}

u’

it

Options :

1. % 22 g13cy
2. v 18 SlacH
3. % 24 95cH
4. % 10 93y

Question Number : 118 Question Id : 54062618745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
protocol is used for uploading and downloading files between different computers.
Options :
1. % X.12
2. ¥ XMODEM
3. % X.75
4. % XON

Question Number : 118 Question Id : 54062618745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faftrs HregeRl & st wigd SIuAfST aur SeAasT & forg TeIhid o1 SUAIT fhaT ST g |
Options :

1. % X.12

2. ¥ XMODEM

3. % X.75

4. % XON

Question Number : 119 Question Id : 54062618746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An operating system that helps in sharing the files across the network is known as
Options :

1. ¥ network operating system

2. % real operating system

3. # time operating system

4. % coupling operating system

Question Number : 119 Question Id : 54062618746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP TR Red St N Aedds T WISl bl R B H Hag HR g, F YT AFT ST 8|

Options :

Question Number : 120 Question Id : 54062618747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



(84)12=(7)g?
Options :
1. % 142
2.¥ 144
3. % 134
4. % 104

Question Number : 120 Question Id : 54062618747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(84)12=(7)g?

Options :
1. % 142
2.9 144
3. % 134
4. % 104

Discipline2
Group Number : 7
Group Id : 540626710
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Discipline2



Section Id : 540626892

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261078
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54062618748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mode allows transmission in either direction but not simultaneously.
Options :
1. % Duplex
2. % Half duplex
3. ¥ Simplex
4. # Half-simplex

Question Number : 121 Question Id : 54062618748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ars et off o= & crafirem @) srafa 3ar § dfe e ary &)
Options :
1. % S
2. ¥ BIeh gWia
3. % Rywociay
4. % g Rymoay



Question Number : 122 Question Id : 54062618749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which input device is used for reading answer to question in a test or survey?
Options :

1. # OCR

2. ¥ OMR

3. % Barcode reader

4. % MICR

Question Number : 122 Question Id : 54062618749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS UREUT a1 9d H U8 & 3R & U & fole ford 399e IUHR0T &1 IUTIT fohan Srdn /2
Options :

1. ¥ OCR

2. ¥ OMR

3. % Rl e

4, % MICR

Question Number : 123 Question Id : 54062618750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a impact printer?
Options :

1. #* Inkjet printer

2. % Dot-matrix printer

3. # Laser printer

4. % Thermal printer

Question Number : 123 Question Id : 54062618750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fafered # 9 o 91 Ue 3HuR fliex 32
Options :

1. % Sapolc ik

2. ¢ Sle-HeRaq fiier

3. % WoR Ui}

4. % ¥ iR

Question Number : 124 Question Id : 54062618751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are not true about magnetic tapes?

I. Direct access device
II. Store large volume of data
II1. Use for backup purpose

Options :

1. # Il and III
2. % Tand III
3.9 Only I
4. % Only II

Question Number : 124 Question Id : 54062618751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FraffEd 3 9 &9 978 oy 29fcs Tl & TR § 9 181 82
1. STRGe Uy fgarsy

1. S5 7T H Sl TR &A1

111, §H3T I P Y SUTRT =T
Options :

1. % [ dYT I

2. % [ QU




3. Had |
4. % HAA Il

Question Number : 125 Question Id : 54062618752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct regarding electric power?
Options :

1. % p=12V

2. % P=1I/V

3.9 P=VI

4. % P=V/l

Question Number : 125 Question Id : 54062618752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed & @ o9 1 3ofdes urer & e o Tt 82
Options :

1. % P=1?V

2. % P=IV

3.¥ P=VI

4. % P=V/I

Question Number : 126 Question Id : 54062618753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A 2 way switch works as follows:

Both switches ON = lights off
Both switches OFF = light off
One switch ON and other OFF = light on

Which gate can be used to implement this?



Options :

1. # OR

2. % AND
3. ¥ NAND
4. ¥ XOR

Question Number : 126 Question Id : 54062618753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 2 d(way) R TR &1 #Rar &:
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Gl R 3 = d1™e 3
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Options :

1. % OR

2. % AND

3. ¥ NAND

4.+ XOR

Question Number : 127 Question Id : 54062618754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which counter is a shift register with its complement output of the last stage connected to the D-input of the first stage?
Options :

1. % Synchronous

2. ¥ Twisted ring

3. % Up

4. % Down



Question Number : 127 Question Id : 54062618754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PI H DIICR Ugd 1ol b D-3TYC U IS HfciH WS b 30 HIHfefc SITYS b A1Y Teh T IR &2
Options :

1. % R¥=piTg

2. ¢ fges R

3. % 3[4

4. % G134

Question Number : 128 Question Id : 54062618755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Linearity error is expressed as a percentage of
Options :

1. # minimum input voltage

2. % maximum input voltage

3. % maximum output voltage

4. ¥ minimum output voltage

Question Number : 128 Question Id : 54062618755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dfeRdIe® & ufawd & U H ad foar ST g
Options :

1. % fAHE e diees

2. % BfRIH Y diecdl

3. ¢ BfFTET 3T3TYE dlecd!

4. % fOfATY 3I3CYL diecw

Question Number : 129 Question Id : 54062618756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A code in which only one bit changes between successive numbers is known as code.

Options :

1. % ASCII

2. % Hamming
3. ¥ GRAY

4. % BCD

Question Number : 129 Question Id
Orientation : Vertical

: 54062618756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

I8 Pre, foH HHNTT w13l & §i9 sad U foe gRafdd gidt g, HIS P =T H ST SI1dT |

Options :

1. % ASCII
2. % B

3. ¥ GRAY
4. % BCD

Question Number : 130 Question Id
Orientation : Vertical

: 54062618757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair regarding sign bit is correct?

I. 0 — positive

II. 1 —negative
Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 130 Question Id

: 54062618757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e 7 3 o 91/ gm R @) foe & el d 981 222

1. 0 — TIfoIfed
1. 1 - ied

Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl
4. % 1B

Question Number : 131 Question Id : 54062618758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If (21121)5 = (C)y4, then what is the value of C?

Options :

1. % (2023)4
2. % (3032)4
3. % (2112),
4.9 (3031)4

Question Number : 131 Question Id : 54062618758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g (21121); = (C),, A C BT A FT G2
Options :

1. % (2023)4

2. % (3032)4

3. % (2112),



4.9 (3031)4

Question Number : 132 Question Id : 54062618759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is known as the acquisition, storage, organization, retrieval, display and dissemination of information.
Options :
1. # Data management
2. % Information processing
3. # Data structure

4. % Programming management

Question Number : 132 Question Id : 54062618759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI SHITRA & UG, HSRUT, WTeH, YU, TSR IUT YR & =Y B S S g |
Options :
1. % ST AHe
2. ¢ SHIARH URIRAT
3. % SATHRR
4. % YfERT AReTHe

Question Number : 133 Question Id : 54062618760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the cardinality of Relation having 500 tuples and 50 attribute?
Options :

1. ¥ 500

2. %50

3. % 450

4. % 2500



Question Number : 133 Question Id : 54062618760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

500 TIURT YT 50 TSI aTct RaI=H Pl Blfa-Tere! ol g2
Options :

1. ¥ 500

2. %50

3. % 450

4. % 2500

Question Number : 134 Question Id : 54062618761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many rule does Dr. E.F. Codd provides which qualify a database as a RDBMS?
Options :

1. % 10

2. % 11

3. 12

4. % 13

Question Number : 134 Question Id : 54062618761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 3.0, B8, Tl U SCIad Bl SRSIETHTYH & FU H I Rl 5, fova o UG Pl g2
Options :

1. % 10

2. % 11

3.9 12

4. % 13

Question Number : 135 Question Id : 54062618762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a type of connection trap in Entity relationship model?

I. Fan traps
II. Chasm traps

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 135 Question Id : 54062618762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & @ & 1 T RAwHRY Ated # &R ¢U &1 U UHR g7

L BATH
1. IR ¢
Options :

1. % Hadl
2. % HAd Il
3. [ QYT ISl
4. % qEIIATE I

Question Number : 136 Question Id : 54062618763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following symbol represent one to one cardinality relationship in Entity relationship diagram?
Options :

L —Ot



Question Number : 136 Question Id : 54062618763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRed # I &1 91 udie TAeid RAARY S=2um § a9-g-a7 difa-ter! KRR & gxifdr g2

Options :

Question Number : 137 Question Id : 54062618764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an approach of database design in database management system?
Options :

1. # Top-down approach

2. % Bottom-up approach

3. % Inside-out approach



4. ¥ Up-down approach

Question Number : 137 Question Id : 54062618764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 oF 0 Serey Ao Ried 8 ey fS$9rg- &t 3 61 82
Options :

1. % C[U-S13 3

2. % §icH-3(U Ul

3. % STHIES-3M13C U

4.« U3 U

Question Number : 138 Question Id : 54062618765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an Aggregate operator in Structured Query Language?
Options :

1. # Minus

2. # Intersect

3. % Union

4. % Count

Question Number : 138 Question Id : 54062618765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & @ & 91 s -t dae B T SifRer g2
Options :

1. ¥ Minus

2. # Intersect

3. % Union

4. % Count




Question Number : 139 Question Id : 54062618766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many address lines and input-output data line are needed for the 64k x 8 memory unit?
Options :

1. # 16 address line, 3 data line

2. % 6 address line, 3 data line

3. ¥ 16 address line, 8 data line

4. % 10 address line, 8 data line

Question Number : 139 Question Id : 54062618766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

64k x 8 AHRY g & g a1 To A8 SR 3AYe-3HT3eYe Sl A1e- &1 aadhdl gldl 82
Options :

1. % 16 TQY W3, 3 ST a3

2. % 6 TS WS, 3 ST ATEA

3. ¢ 16 TgY T3, 8 ST A8

4. % 10 UgYH A1EH, 8 ST A

Question Number : 140 Question Id : 54062618767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The 4 bit registers R1 and R2 initially have the following values.

R1: 1010
R2: 1100

What is the content of R1 and R2 after execution of this micro-operation?
R1 < R1®R2
@ is a symbol of Ex-OR.

Options :



1. ¥ R1: 0110, R2: 1100
2. ® R1:1010,R2: 0110
3. ¥ R1:0110,R2: 0110
4. % R1:1010,R2: 1100

Question Number : 140 Question Id : 54062618767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 foe Sz R1 3k R2 & o & TwafofRa 7= aa §

R1: 1010

R2: 1100

$H ARSI & fasaea & a1 R1 3 R2 & s@asqe #r 272

R1 « R1® R2

®, Ex-OR & T 9dls &
Options :

1. ¥ R1: 0110, R2: 1100

2. % R1:1010,R2: 0110

3. % R1:0110,R2: 0110

4. % R1:1010,R2: 1100

Discipline3
Group Number : 8
Group Id : 540626711
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline3

Section Id : 540626893

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261079

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54062618768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The mask logical micro operation is equivalent to which logical gate?
Options :

1. # OR gate

2. % NOR gate

3. ¥ AND gate

4. % NAND gate

Question Number : 141 Question Id : 54062618768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

AR oI d HIgsh! SRR fod dlforere Tic & el 8?2
Options :

1. % ORI

2. % NORTC

3.¥ ANDIC

4. % NANDTIC

Question Number : 142 Question Id : 54062618769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many memory references are required to fetch an operand in indirect addressing?
Options :

1. %1

2.¥2

3.% 3

4. % 4

Question Number : 142 Question Id : 54062618769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS P TSR USRI H @ & oy ford= THRI YT Bt STaRgehdl gia 82
Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 143 Question Id : 54062618770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
This instruction is of what type?



ADDRI1,A, B

Options :

1. % Zero Address Instruction
2. % Two Address Instruction
3. % One Address Instruction
4. ¢ Three Address Instruction

Question Number : 143 Question Id : 54062618770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g SCRM [ JHR o182
ADDRI, A, B

Options :

1. % UG SEaH
2. % G TSH SXCRM
3. % U U S
4.« I 1S9 SERA

Question Number : 144 Question Id : 54062618771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which attribute in HTML table tag defines the number of columns in a column group?
Options :

1. # border

2. # colspan

3. % Rowspan

4. ¥ span

Question Number : 144 Question Id : 54062618771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTML <&d &7 H ®IF 91 Ueege HiaH T8 H Sy ! T HI URHIRNT HRal 82




Options :

1. % gl

2. % Pl
3. % AEH
4. T

Question Number : 145 Question Id : 54062618772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the drawee fails to make the payment on the date of maturity, then a bill is said to have been
Options :

1. # discounted

2. % dishonoured

3. #® defected

4. % cleared

Question Number : 145 Question Id : 54062618772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® f$Eprdcs

2. ¢ f&H3IRE

3. % felhacs

4. % FATS

Question Number : 146 Question Id : 54062618773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the objective(s) of accounting?



I. Maintenance of Records of Business Transactions
I1. Calculation of Profit and Loss

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 146 Question Id : 54062618773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pl 7  oF 91/ EidT $1/d 3 8/8?

. TR & ¢ o1 fgare 3@
I1. 1Y TUT T 1 TT0HT
Options :

1. % Had 1

2. % HAd Il

3. [ QYT ISl

4. % qEIIATE I

Question Number : 147 Question Id : 54062618774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the reason(s) for difference between cash book and bank passbook?

I. Cheques paid into the bank but not yet collected
II. Interest and dividends collected by the bank

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II



Question Number : 147 Question Id : 54062618774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRed & I &1 91/8 $IEH 94T d6 TgD J 3R F1/db HRUT 5/5?

1. 9% H Yo fohd 7T I o] S9g0r Tal gl g
1. §& GRT SR [ T ST T ATHIRT
Options :

1. % Had 1
2. % HAdII
3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 148 Question Id : 54062618775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of f'(x) at x = 4 from the following table of values?

% |4 |2 | 3| 4
fix)[ 202212735

Options :
1. %92
2.%9

3. % 10.8
4. %95

Question Number : 148 Question Id : 54062618775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Arar Fr Feafaf@a aifes & x = 4 9T f'(x) F AT F47 87

X i | 2 3 4
f{x) | 200 22 .27 |35
Options :
1. %92
2.%9
3. % 10.8
4. 9495

Question Number : 149 Question Id : 54062618776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct regarding software metrics in software engineering?

I. Direct measures of the software product include functionality quality, efficiency etc. of the software.
II. Indirect measures of the software product includes lines of code produced, execution speed, memory size etc. of the software product.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 149 Question Id : 54062618776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIGATR ST H QI aTR Aieed o Tau H Fafefed & 3 &I a1 o 81 8/8?

1. HITedtR STE o el SUMT & HUITR P brderrdT Urad], ST e M ¢
11. Gtk IATE P AU IUR H G dqR IdTE Bl IANed PIS Dl ATgH, (e Td, AR Jrgel 1fe M g
Options :

1. % Had |




2. % Had Il
3. % 1 qYT I aHl
4. BB

Question Number : 150 Question Id : 54062618777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The SRS document produced at the end of requirement analysis and specification is known as
Options :

1. # white-box specification

2. ¥ black-box specification

3. # design plan

4. % architectural design

Question Number : 150 Question Id : 54062618777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST fIRANUT 3R WRIFHTH & 3fd # R BT MU SRS ST &I & U T THE A8 |
Options :

1. % glec-diay Wb

2. ¢ &Ih-dia] WA=

4. % 3h R fSulg

Question Number : 151 Question Id : 54062618778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements are not true about CASE tool?

L. It degrades the quality
II. Reduce the drudgery in software engineer’s work
III. Increase maintenance cost



Options :

1. % T and III

2. % Il and III
3. % Tand II

4. # I, 1I and III

Question Number : 151 Question Id : 54062618778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CASE ¢d & SR # FHfoied & 9 & 3 Hy 99 a1 82

1. T T[Ura< &1 HH Bl §

1. GTHEdTR SONR & HTH H HI68al HH Hdl &
[11. Wa@T AT D! TSI &

Options :

1.« 1aUT I

2. % [ AU

3% 19U

4, % 111 dYTIII

Question Number : 152 Question Id : 54062618779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Process of recovering the design and the requirement specification of a product from an analysis of its code is called as
Options :

1. # Software analysis

2. % Software engineering

3. ¥ Software reverse engineering

4. % Software return engineering

Question Number : 152 Question Id : 54062618779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fopaft IaTe o fEoe SR Saxadhdl WRIhH I & SUD B8 & AT I U e I UfhaTdl SISl g
Options :

1. % QoedaR UMy

2. % YIUCIWR FHIRIT

3. ¢ WigedeR Rad Selifaf

4. % FroedwR e Seifaf

Question Number : 153 Question Id : 54062618780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Spiral model of software development is also known as
Options :

1. # successive model

2. ¥ meta model

3. % prototype model

4. * risk model

Question Number : 153 Question Id : 54062618780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IcdR e & WRAASadl . FTUH NI argl
Options :

1. % GRIYG AHied

2. ¢ HelHlSd

3. % JIcIegy Aisd

4. % % Aled

Question Number : 154 Question Id : 54062618781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In which debugging approach, the program is loaded with print statements to print the intermediate values with the hope that some of the printed
values will help to identify the statement as error?

Options :

1. % Backtracking

2. # Cause Elimination Method
3. % Brute Force Method

4. # Program Slicing

Question Number : 154 Question Id : 54062618781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fep RafifT o &, o bl 3w Sl & Try Heraell w1 1 ffe @ & e ffe Redfe 3 W dis ot o § 6 3o fifes wm
W}ehe ol e &b U T UgdH B T Hag Hil

Options :

1. % SHClb

2. % B TAHARH AYS

3. ¢ §C B HYS

4. % TR TSR

Question Number : 155 Question Id : 54062618782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a invalid relational operator in Java?
Options :

1.8 <=

2.9 =>

3. % 1=

4. % ==

Question Number : 155 Question Id : 54062618782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafaied o 4 &F I java T T ST RARMT 3MTIReR 82
Options :
1. % <=
2.9 =>
3.% 1=
4. % ==

Question Number : 156 Question Id : 54062618783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are monolithic kernel systems?

I. Linux
II. Windows

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 156 Question Id : 54062618783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 o1 3 AAIf® Bid R 82

I. Linux
II. Windows

Options :

1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI



Question Number : 157 Question Id : 54062618784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are true regarding processes and threads in operating system?

I. Threads encapsulates concurrency within a process.
II. Process encapsulates protection within the system.

Options :

1. * Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 157 Question Id : 54062618784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR e # ufspan 3R 959 & el & Fufifea A S TR sy 9a /27

1. 98 T UichdT & Sfaid Bl Bl UTaR0 Hd & |
11. UfehaT Rew & 3iawid JR&M HI UTaRo il g |
Options :

1. % Pad 1

2. % Had I

3. ¢ 1Y I g

4. % IS

Question Number : 158 Question Id : 54062618785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are true regarding threads in operating system?

I. The threads in a process are visible to other processes.
II. A thread is strictly private resource of a process.



Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 158 Question Id : 54062618785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR e # g9 & Yoo # Fufefad & § o1 WA sy 9a 2720

1. U Tifehar § 989 3= Ufchanafl &) ex0H 8id g
I1. U 9 Ueh Ufeha1 &1 ggd: ol Tume grar 3|
Options :

1. % Had 1

2. ¢ HAd Il

3. % [ UGl

4. % AT I

Question Number : 159 Question Id : 54062618786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a state of a process in operating system?
Options :

1. % Waiting

2. ¥ Excite

3. ¥ Running

4. ¥ Ready

Question Number : 159 Question Id : 54062618786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeied o @ oF I o Red & Te ufehan &1 U 3aRAT (T) o1 il 62
Options :

1. % ofdm

2. ¥ URIgC

3. % T

4. % 33

Question Number : 160 Question Id : 54062618787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a CPU scheduling Algorithm?
Options :

1. ® FCFS

2. ¥ C-SCAN

3. # SJF

4. % SJN

Question Number : 160 Question Id : 54062618787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoiad § @ & a1 ue Wt g, Asgfor eniyg e 8
Options :

1. # FCFS

2. % C-SCAN

3. % SJF

4. % SIN

Discipline4
Group Number : 9
Group Id : 540626712



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 540626894

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261080

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 54062618788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are true about CPU scheduling algorithm?

I. Shortest remaining time first scheduling may cause starvation
II. Round Robin is better than First Come First Serve in terms of response time

Options :

1. * OnlyI

2. % Only II

3. % Both I and II



4. % Neither [ nor 11

Question Number : 161 Question Id : 54062618788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

< gt g Aegfei Tenivyd & IR # Fafafed & 9 oF 9178 U 9 8/6°

I. TN RATT CgH e AegfeiT & WRARH 81 Tl o

11 ufaferar g & AHe # I3S AfeH B HH B 9d 98 &
Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl

4. % qEIIATRIII

Question Number : 162 Question Id : 54062618789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Short run marginal cost curve is

Options :

1. # S-shaped

2. ¥ U-shaped

3. % V-shaped

4. # Inverse U-shaped

Question Number : 162 Question Id : 54062618789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3IeUHTC JHTd AT agh gIaTg|
Options :

1. % S-HPR

2. ¥ U-3{[PR



3. % V.3HR
4. % giAay U-3THR

Question Number : 163 Question Id : 54062618790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the tool(s) of monetary policy of the RBI?

I. Reverse Repo Rate
II. Repo Rate
II1. Bank Rate

Options :

1. # Iand II

2. % Il and III
3. % Only III
4. 1,11 and 11T

Question Number : 163 Question Id : 54062618790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafiRad & A o1 T3 SREeS Bt Aide Hifd B1/% Ius 8/8?

L Rad R
LA R
111, § &3
Options :

1. ® 1qUTI
2. % [ QYT

3. % SHad I

4. ¢ 1 11 dYTIII

Question Number : 164 Question Id : 54062618791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT correct regarding monopolistic competition?
Options :

1. # The marginal revenue is slightly less than the average revenue

2. # The goods produced by them are not homogeneous

3. ¥ The demand curve faced by the firm is horizontal

4. #% The market structure of the firm allows for new firms to enter the market

Question Number : 164 Question Id : 54062618791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafead 7 ¥ & 91 $y= TeH1ieR) ufaaifar & deu g8t 78t 82
Options :

|, % T IoRd 3NGd o J UISTHA B

2. % JFP gRI IAfed AT oI el &

3.« B gRT A1 fo5a1 S a1 97 g &fas giar |

4. % B ! ISR TS 18 BHI DI SR H Ja= 6 &1 3 ol &

Question Number : 165 Question Id : 54062618792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statements are true about local area network?

I. Communication takes place by way of satellites, microwave
II. Faster than wide area network
III. Covers limited area

Options :

1. % Tand II

2. % Il and 111
3. ® Jand III

4. % 1 11 and 111



Question Number : 165 Question Id : 54062618792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R & Aedd & IR H P J YT T 8/82

1. SUUEY, HISehIad & HIenH A TR BT §
1. 98 &% eadh 4 AST §
1. ST & B! R HaT 8

Options :

.= Iddl

2. 11 dYTIII
3. % TdYT I
4, % I, I dYT I

Question Number : 166 Question Id : 54062618793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statements are true about wide area network?

I. Covers wide geographical area
II. Communication take place by way of satellites, microwaves
I11. Relatively faster than local area network

Options :

l.¥ Tand I

2. % Iland III
3. % land III

4. % I, 1l and III

Question Number : 166 Question Id : 54062618793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

geq & Aead b IR H I J YT I 87




L. 38q UM &5 Bl HaR Bl §

11. SUUE!, ATSchidd & HILOH T YR Bidl &
111, R & Yeddh B ol J 3(0edhd ovl 8
Options :

1. 13U

2. % [ QYT

3. % [qUTIII

4. % [ 1 AUTII

Question Number : 167 Question Id : 54062618794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the acronym of ICMP Protocol?
Options :

1. ® Internet Contention Message Protocol

2. % Internet Communication Message Protocol
3. ¥ Internet Control Message Protocol

4. ® Internet Carrier Message Protocol

Question Number : 167 Question Id : 54062618794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31TS . TH. . BT A =9 T g2

Options :

1. % AT HeIRH TS Meldld

2. % ZeAC HRYAGIA AW Wl
3. ¢ ZeTAC dheld T Uetdid

4. % FaTC HIIR BRI Uieipia

Question Number : 168 Question Id : 54062618795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are not true about star topology?

I. Failure of the Central Computer shut down the entire network
II. Connection of additional computers increase the communication time

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 168 Question Id : 54062618795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¥R cIardron & R # Fafeiad # 3 o1 91/8 S 93 181 o/8?

1. Yoo SR B fathear Gquf Aead B §g Bl §
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Options :

1. % Had |
2. ¥ Had Il
3. % [ UGl
4. % qEIIATR I

Question Number : 169 Question Id : 54062618796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Ethernet, when Manchester encoding is used, then the pulse width are
Options :

of the straight binary encoding.

1. # same
2. ¥ half
3. # twice
4. # one third



Question Number : 169 Question Id : 54062618796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SYC H, OF AR Tl ST o1 IUANT fHa ST 8, o) e AieTs W SI5-R) ThITST &/t gt gl

A

Options :

1. % gHMH

2.« 3Medt

3. % QAT

4. % T fagTs

Question Number : 170 Question Id : 54062618797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which data transmission technique in a computer network required dedicated communication channel?
Options :

1. ¥ Circuit switching

2. % Packet switching

3. ¥ Message switching

4. # Frame switching

Question Number : 170 Question Id : 54062618797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HER Aead d forg SeT IR ddb-id & fore Jaftd TaR o=d &1 SHTaRaHdl gid 67
Options :

1. ¢ Ffdbe Rafe

2. % Udbe Rafi

3. % HO Rt

4. % Tow faf<im




Question Number : 171 Question Id : 54062618798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the description of append keyword of Visual Basic .NET keyword?
Options :

1. # Boolean operation

2. % Used in the declare statement

3. % Used as a symbolic constant in the file open function

4. % Assembly — level attribute specifier

Question Number : 171 Question Id : 54062618798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fagsre 9 NET ®1ds & 3US Blas ol faaru 1 g2

Options :

1. % gfergd IR

2. % fSaaR WeHe # SuAT fosar oirar g

3. ¢ BT3d 30 Had H Risifere side & =0 § Iuan fur orar g

4. % 3 - dad Ufcee WRIHESR

Question Number : 172 Question Id : 54062618799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following business models falls into the category of ‘Transplanted Real-World Business Models’?
Options :

1. ¥ Free trial model

2. # Freeware model

3. # Access provision model

4. ® Digital products model

Question Number : 172 Question Id : 54062618799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 o O foo Alsd TiawHics Rad-ace faog Arsa & 4uft 7 ofrar g2
Options :

1. ¢ Tl Trad Higd

2. % IR Higd

3. % Uy Uifder digd

4. % fSfeq Uisdey Ored

Question Number : 173 Question Id : 54062618800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Procedure for online trading involve(s) which of the following step(s)?

I. Make an application to open a Demat Account and Online Trading Account.
II. Allocate funds from the bank account to the trading account.
II1. Once the order is confirmed, it is placed in the stock exchange through the online trading system.

Options :

1. # Iand II

2. % Only IIT

3. ¥ 1, Il and III
4. % II and III

Question Number : 173 Question Id : 54062618800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3iiarg ¢fEw o1 ufshar # Fafefad & 9 o 91/ =R A 8782
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11 U& IR 3TEX B YfY B 9 & 91G, T 3i-aTe ¢fe7 RieH & ATead ¥ Tidh Tayas § 39 {1 ST 5|
Options :

1. % 131

2. % oHddl I



3. 1, AU I
4. % 1Y

Question Number : 174 Question Id : 54062618801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can be the valid balance factor of any node in an AVL tree?
Options :

1.¥1

2.% 2

3.% 3

4. % 4

Question Number : 174 Question Id : 54062618801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed & J @9 91 AvL ¢ 8 fasdlt off e &1 7 g SR 81 9l 87
Options :

1.¥ 1

2. % 2

3.% 3

4. % 4

Question Number : 175 Question Id : 54062618802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The vertex in a graph with degree one is known as
Options :

1. # isolated vertex

2. # loop vertex

3. % pendant vertex

4. % external vertex



Question Number : 175 Question Id : 54062618802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG HTE fSfiaaad®d FEIATIAEIGI
Options :

1. % 3fIgAIICS deay

2. % U aca

3. ¥ U acH

4. % TaHeAd dcH

Question Number : 176 Question Id : 54062618803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the time complexity of Dijkstra’s algorithm for the single source shortest path problem?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. O(n)

2. O(logyn)

3. 0(n?)

4. O(n logyn)

Question Number : 176 Question Id : 54062618803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THd AId G99 DI UY AT & AU Dijkstra’s TENRYA &1 JHY S erdT (bl o g2
Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :

1. O(n)

2. O(logyn)

3. 0(n?)
4. O(n logyn)

Question Number : 177 Question Id : 54062618804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For the given graph, what the following matrix represent?

vl v2 v3 v4
vif0 0 1 1
v2|0 0 1 1
vill 1 0 1
vl 1 1 0]

Options :

1. ¥ Adjacency matrix
2. # Incidence matrix
3. # Circuit matrix

4, % Cut-set matrix

Question Number : 177 Question Id : 54062618804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&d M urw & forg, FRafafea dfeew s ufafAfia Harg?



vl v2 v3 v4

@ i:5 vi[o 0 1 1
(&

v2|10 0 1 1

- 1 1 0 1

) v v4ll 110
ed

Options :

1. ¢ TeoRiYT Afeay

2. % RS e

3. % gfhe Bfeey

4. % He-e Afeam

Question Number : 178 Question Id : 54062618805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following weighted diagraph. What is the shortest distance between V1 to V5?

T-"ﬂ
V) V3

30 @

Options :
1. % 140
2.¥ 120
3. % 130
4. % 110



Question Number : 178 Question Id : 54062618805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad yRa SE | faaR & | A A ¥ eF W HH VI vs & ol Jad BICT gl &1 GRITdT 82

Options :
1. % 140
2.9 120
3. % 130
4. % 110

Question Number : 179 Question Id : 54062618806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a component of Decision Support System (DSS)?

I. User interface
II. Knowledge engine

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 179 Question Id : 54062618806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 o a1 feRwm Tué Ried &1 76 ges 82

I IoR SRBGY
EINSESE
Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl
4. % 1B

Question Number : 180 Question Id : 54062618807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CDMA is an example of which generation of cellular networks?
Options :

1. ¥ 2G

2. #® 5G

3. ¥ 35G

4. % 4G

Question Number : 180 Question Id : 54062618807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WAL, AR Aead Bt fg AR BT IR0 72
Options :

1. ¥ 2G

2. % 5G

3. % 3.5G

4. % 4G
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Question Number : 181 Question Id : 54062618808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following mobile data speed in ascending order.

GSM, LTE, GPRS, EDGE
Options :

Discipline5

10
540626713

Discipline5

540626895
1

Online
Mandatory
20

20

20

Yes

1
5406261081
Yes



1. ¥ GSM, GPRS, EDGE, LTE
2. % GSM, EDGE, GPRS, LTE
3. % GPRS, GSM, LTE, EDGE
4. % GSM, GPRS, LTE, EDGE

Question Number : 181 Question Id : 54062618808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad HisTsd Sci T1fd @1 3RIg! shH H gafyd &< |

GSM, LTE, GPRS, EDGE
Options :

1. ¥ GSM, GPRS, EDGE, LTE
2. % GSM, EDGE, GPRS, LTE
3. ¥ GPRS, GSM, LTE, EDGE
4. ¥ GSM, GPRS, LTE, EDGE

Question Number : 182 Question Id : 54062618809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Circle have way symmetry.
Options :

1. % two

2. % four

3. ¥ cight

4. % one

Question Number : 182 Question Id : 54062618809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gad dROT T gidl 8|

Options :




1. %3
2. % IR
3. ¢ 318
4% TP

Question Number : 183 Question Id : 54062618810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which matrix represents rotation of an object by 30° about the origin?

Options :

B

T jj_ _21
1% 2 2
8

Wi f j}
2. ¥ w2 Al
ey

e jj_ i

2 2




|
-2 | = N|H

m|‘&1w|$-|

Question Number : 183 Question Id : 54062618810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B a1 Afeay fordf avq & qat & T § 30° gofa &Y qiar g2

Options :
A

By j} _21
1% 4 2d
8

Hig s f j}
2.V L2 A
o

R, = j} ?

2 2




|
-2 | = N|H

m|‘&1w|$-|

Question Number : 184 Question Id : 54062618811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which colour specification in CSS use three numbers representing the hue (from 0 to 360 degree), saturation percentage and lightness
percentage?

Options :

1. * Hexadecimal
2. % RGB

3. ¥ HSL

4. * Alpha

Question Number : 184 Question Id : 54062618811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%%%Hﬁﬁqu@ﬁwmmaﬁwWW%eﬁ@(0@360%311@,ﬁwm@wﬁﬁﬂmaﬁ
?

Options :

1. % oS

2. % RS

3. ¢ T T .U

4, % 3l

Question Number : 185 Question Id : 54062618812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the full form of JPEG image forms?
Options :

1. ¢ Joint Photographic Experts Group

2. % Joint Photographic Experts Graphics
3. # Joint Photo Experts Group

4. ® Joint Photo Experts Graphics

Question Number : 185 Question Id : 54062618812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JPEG SHW & U &1 3Efed U a1 32
Options :

1. ¢ SIS BICRThe TaUcy Ju

2. % I3 BIcHthd TRUCY UTthad
3. % i< Wil ToUcy qu

4. % ST HIc! Tayucy UTthay

Question Number : 186 Question Id : 54062618813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statements are true about sequence structure during program execution?

I. Each statement is executed once
II. No statement is repeated
II1. The statements are executed in any order

Options :

1. % II and 111
2. % Tand III
3.% Tand 11

4. % 1 1l and III

Question Number : 186 Question Id : 54062618813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TR TR & SR 1y TR & IR § B I HYT T 82

L. UA% HYF U IR URITage foram ST 8
11. Tt ot S BT Slewman 8] oI §
111 FY o1 Tt ot r o vaitagRH fpar srar @

Options :

1. % I1dYUTIII
2. % TdYTIII
3.9 14T 1T

4, % I, I dYT I

Question Number : 187 Question Id : 54062618814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the mean of the mode and median of the data given below?

8,7,54,9,1,3,7,6,5,2,1,6,3,9,8,4,6
Options :
1. ® 6.5
2.% 575
3. % 6.25
4. % 55

Question Number : 187 Question Id : 54062618814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&2 7T Se1 & Wit qUT 9gAH HT HIed a1 82

8,7,54,9,1,3,7,6,5,2,1,6,3,9,8,4,6
Options :
1. ® 6.5



2.9 575
3. % 6.25
4. % 55

Question Number : 188 Question Id : 54062618815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let P be the median of the data: 34, 28, 20, 32, 15, 9, 23, 26, 35, 16, 33, 43. If 16 and 23 are replaced by 30 and 32 respectively in the data, then
let Q be the median of the resulting data. What is the value of (3P — 2Q)?

Options :
1. % 18
2.9 19
3. % 21
4. % 15

Question Number : 188 Question Id : 54062618815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT THTE P: ST 34, 28, 20, 32, 15, 9, 23, 26, 35, 16, 33, 43 B HIFADBT g1 S ST H 16 3R 23 BT HH: 30 3R 32 T uforrnfd fasar Srar
g, dl A e ikt Se1 1 Ifw1 ] 1 (3P — 2Q) HTHM T 82

Options :

1. % 18

2.¢419

3. % 2]

4. % 15

Question Number : 189 Question Id : 54062618816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bag L contains 2 white and 3 red balls and a bag M contains 4 white and 5 red balls. One ball is drawn at random from one of the bags and is
found to be red. What is the probability that it was drawn from the bag M?

Options :



23
3 % 32

19

Question Number : 189 Question Id : 54062618816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T ST L 7 2 b 3R 3 A 71Q g 3R Th M H 4 Gl 3R 5 T Tiq 5 | Tl T o1 o 9 U 71 Aresdn Habrat Sirelt § SR drd urs
STl & | 3HD! T UTehdl § fob 39 ST M ¥ T T/

Options :
29
| % 52

5
2.4 3

23
3 % 32



19

Question Number : 190 Question Id : 54062618817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is Lagrange’s interpolation polynomial for the following data?

-2

X
f(x)

L]
th | &

Options :
1. % 2x+6
2. % x+5
3.9 x+ 1
4. % 2x+5

Question Number : 190 Question Id : 54062618817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad Se1 % fof ATRS o1 SeuIaR 9gue T 82

| B

X
f(x)
Options :

l. % 2x+6
2.% x+5
3. x+1
4. % 2x+5

Sub-Section Number : 2
Sub-Section Id : 5406261082

L ¥]
[ " =




Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 54062618818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the characteristic(s) of an effective method of teaching and learning?

I. Provides a scope for peer learning
II. Encourages students to think independently and construct knowledge of their own

Options :

1. % OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 191 Question Id : 54062618818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered o A 319 9/ Rieor 3R T 31 ue uuTd ugha S/ Sitidenn g/e?

1. geuTfeal & 3ifRTH YiRa & fow S Suds SR
11. faenfiaY & Tada U T & fou 3R U= Wh & M &1 [T B & ot Uiened oA

Options :

1. % Had |

2. % Had I

3. ¢ 1 qUTIL A
4. % qEIIATR I

Question Number : 192 Question Id : 54062618819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?



I. Materials for activity learning need to be relevant, contextual and related to real life experiences
II. Textbook is an essential material for teaching and learning

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 192 Question Id : 54062618819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad # 3 &1 /8 Y 98l 8/8?

1. Tifafafdr siférmy & fore wmmelt urifies, defifd ofk arafade Siiad & srydl @ Tefid giH1 a1
1. UT3aq%ad Rreror 3R 3ifermy & ferg sifard ammht 8

Options :

1. % Had 1

2. % HAd Il

3. ¢ 1 UGl
4. % qEIIATE I

Question Number : 193 Question Id : 54062618820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a feature of formative assessment?

Options :

1. % It is diagnostic and remedial

2. ® Tt provides a platform for the active involvement of students in their own learning
3. % It is not conducted at regular intervals on informal basis

4. ¥ It ensure provision for effective feedback

Question Number : 193 Question Id : 54062618820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

AR § T B9 1 YOS 3MTha BT AUl 8] 82

Options :

1. % g FeMeTe 3R SUIRIHS BT 8

2. % g faenfial &1 39 oo Sifv & Tfha Tg WA 8 SMUYR UG &Rl §
3. ¢ U8 AR YR W Fafid siaRrel & a1 foar o 8

4. % gg YYId ufagfd & fore vraum gHidd srarg

Question Number : 194 Question Id : 54062618821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. After completion of teaching a topic, we always desire to known the extent of acquisition of knowledge and understanding of the topic and
compare the achievement of each individual against the desired level of achievement. This process is called assessment of learning.

II. Mr. Rohan was assessing the performance of students while teaching — learning process was going on. He used the results of assessment for
improvement of learning and his own teaching process. This process is called Assessment for learning.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 194 Question Id : 54062618821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeEd 3 A 319 918 HuF 98 8780

1. Th YhRUT & TR0 & AT 814 & dlc, HARI SHI I YHUT TR 14 3R JHS &1 WG b1 AT ST P 531 BIdl & Tl 8 AT bt
TG &1 W1 & Tifesd TR A o B3 ¢ | 3 Uiohar dI IRATH &1 3ida- dal Sl g |

11 I8 S & TG BT ha 39 THT B 38T YT o RIGUI-4TH Dt Ufchar ad gt | ST 3Mha- & GRumH ol ST quT
39 Rrefur & Ufehar 1 URA & o foman| 59 ufshan &1 iftnH ] s del ol |




Options :

1. % FHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 195 Question Id : 54062618822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In humans which of the following body part(s) has been adapted for speech?

I. Lungs
II. Nose
III. Tongue

Options :

1. % 1, 1l and III
2. % Il and III
3. % Only III
4. % Only II

Question Number : 195 Question Id : 54062618822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fget H fFrafefed & 4 iR & g shn/sil &1 sie & for srgepferd fovan mar g/g2

. Bhhs
II. Flh
IIL. ST

Options :

1. ¥ 1, 11 94T 11T
2. % [ITUTII
3. % Had 11l
4. % FHad II



Question Number : 196 Question Id : 54062618823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. Language acquisition refers to developing competence in a language by using it in natural, communicative situations (as available while
learning languages we hear in our homes and the neighbourhood).

II. Language learning refers to developing competence in a language by learning it rules and vocabulary through explicit teaching in a classroom
setting.

Options :

1. ® Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 196 Question Id : 54062618823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol 7 9 oF I/a o= I8 8782

1. HTYT 3foi9 & dreqd TarHifass, gEivorgRe fRufaat @t fRufa g8 oR 3R usig § 1o S1ferTy & fore Iuas gidt 8) § HIST &1 I

FRd gU YIS &l & fAp A g |

%%rrgéagmﬁaﬁqﬁwW%ﬁuﬁaﬁv%ﬂwwwmﬂﬁmﬁwﬁrw$mm@raﬁ¢m$mw&m?n%
|

Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 AU Gl
4. % I I

Question Number : 197 Question Id : 54062618824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Art education is the area of learning that is based upon

I. visual, tangible art
II. performing arts

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 197 Question Id : 54062618824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol TRI&T ST &1 T &7 & &l TR SMYTRI B |

L. T, Wi o
11, FsaTe T Sar

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATR I

Question Number : 198 Question Id : 54062618825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct about Regional art and craft?

I. Art originating among the people of region reflecting their traditional culture.
II. It does not have its own aesthetics but they are not governed by the principles of proportions and rhythms.

Options :
1. % Only I



2. % Only II
3.4 BothIand II
4. % Neither [ nor 11

Question Number : 198 Question Id : 54062618825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& el 3R ey & G & Rufied 8 4 o1 9/8 sy I g/

1. ST & & AN b dTd 39! URURS Yehid Bl IRIafdd HRd gu Sdd gl g
1. SHP U 30T N-ad<Rd g ¢ <ifch- g8 THIIUTT 3R Tac- & Rgidl & aRaTierd gl gid 8 |

Options :

1. % Had |
2. % Had Il
3. ¢ 1 AU Gl
4. % qEIIATRIII

Question Number : 199 Question Id : 54062618826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following thing(s) a teacher should do consciously to avoid gender bias and to promote gender equality?

I. They must use gender-neutral language and encourage children also to do so.
II. Teacher may avoid assigning gendered jobs.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 199 Question Id : 54062618826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U 8 Bl SeR AT T g9 d Sivex HSIerdl &l §raT ¢ & fore Fafafad # ¥ o 93 uag sA1/6- a1ige?

1. &1 Y SiveR ey HINT BT ST BT 1T 3R g=a) ! Wi 5 & fore Uienfea e =gl
11. &1 BT FHTS & SR He HIg 1 P |
Options :

1. % FHadl
2. % Had Il
3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 200 Question Id : 54062618827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the source(s) of gender discrimination?

I. Educational opportunities
II. Government policies
III. Family and parents

Options :

1. * Tand III
2.9 [, Il and III
3. # Only 1II
4. % JTand II

Question Number : 200 Question Id : 54062618827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafied & D &1 918 SreR NeHTd $1/P Fid 2/e?

1. QeI 3aaR
1. TRBRY Afar
111, URER 3R AT

Options :



1. # 1T
2. [ I dYUTIII

3. % Had III
4. % 19YUTII



